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BOOKS - MODERN PUBLISHERS CHEMISTRY (HINGLISH)

HYDROCARBONS

Solved Examples

1. Assign IUPAC names of the following compounds: 

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EqdTo52P9gI5


2. Write the structural formulas for the following compounds whose

IUPAC names are given: 

(i) 3-Ethyl-2-methylpentane (ii) 3, 4, 8-Trimethyldecane 

(iii) 3, 4, 4, 5--Tetramethylheptane, (iv) 2,5- Dimethylhexane

Watch Video Solution

3. The names of some compounds are given below: 

(i) 5-Ethyl-3-methylheptane 

(ii) 4-Isopropyl-5-sec-butyldecane 

(iii) 2-Ethylpentane 

Why are the given names incorrect?

Watch Video Solution

4. Write structures of different chain isomers of alkanes corresponding to

the molecular formula  Write their IUPAC names and classify each

carbon atom as  or .

C6H14

1∘ , 2∘ , 3∘ 4∘

https://dl.doubtnut.com/l/_S4QUsHWZX8Lf
https://dl.doubtnut.com/l/_EPXStNFX6VwC
https://dl.doubtnut.com/l/_JWnXJJ5ygm0R


Watch Video Solution

5. Write the structures of different isomeric alkyl groups corresponding

to the molecular formula . Write IUPAC names of alcohols obtained

by attachment of -OH groups at different carbons of the chains.

View Text Solution

C6H11

6. In the alkane , identify 

 carbon atoms and give the number of H atoms bonded to

each one of these.

Watch Video Solution

H3C − CH2 − C(CH3)2 − CH2 − CH(CH3)2

1∘ , 2∘ , 3∘ ,

7. Which of the following has the highest boiling point ? 

(i) 2-Methylpentane (ii) 2, 3-Dimethylbutane (iii) 2, 2-Dimethylbutane

Watch Video Solution

https://dl.doubtnut.com/l/_JWnXJJ5ygm0R
https://dl.doubtnut.com/l/_0ksy9bLwzaYe
https://dl.doubtnut.com/l/_8L4YL0Z1YgxS
https://dl.doubtnut.com/l/_Mxqj2yrmrJti


8. Sodium salt of which acid will be needed for the preparation of

propane ? Write chemical equation for the reaction.

Watch Video Solution

9. Complete the reactions 

(i)  


(ii)  


(iii) 

Watch Video Solution

CH3CH3 + HNO3

vapour phase
−−−−−−−→

CH4 + O2

Copper tube
−−−−−−→

723 − 773k

C2H5COONa + NaOH
CaO
−−→

10. Write IUPAC names of the following compounds 

(i)  


(ii)  

(iii) 

CH3CH = C(CH3)2         

https://dl.doubtnut.com/l/_Mxqj2yrmrJti
https://dl.doubtnut.com/l/_xWaTg2QGEQsc
https://dl.doubtnut.com/l/_DJXMITlW9ECS
https://dl.doubtnut.com/l/_541XkzQ1Qsww


(iv)

View Text Solution

CH3 − CH = CH − CH2 − CH = CH − C
∣

C2H5

H − CH2 − CH = CH2   

11. Write IUPAC names of the following compounds and calculate the

number of sigma and pi bonds in these 

(i)  " " (ii) 

 

(iii)  " " (iv) 

View Text Solution

(CH3)2CH − CH = CH − CH2 − CH = CH − C
∣

C2H5

HCH3

CH2 = C(CH2CH2CH3)2

CH3CH2CH2    CH2CH2

               |          |

CH3 − CHCH = C = CH2 − CH − CH3

                                                    ∣

                                                    CH3

12. Draw cis and trans isomers of the following compounds. Also write

their IUPAC names : 

https://dl.doubtnut.com/l/_541XkzQ1Qsww
https://dl.doubtnut.com/l/_m4zwjnz5i1qU
https://dl.doubtnut.com/l/_vCOJlTZbEgr0


(i) CHCl = CHCl 

( ii) 

Watch Video Solution

C2H5CCH3 = CCH3C2H5

13. Draw the cis and trans structures of hex-2-ene. Which isomer will have

higher b.p. and why?

Watch Video Solution

14. Write the structures and IUPAC names of different structural isomers

of alkenes corresponding to the molecular formula .

Watch Video Solution

C5H10

15. Which of the following compounds will show geometrical isomerism ? 

(a) 

https://dl.doubtnut.com/l/_vCOJlTZbEgr0
https://dl.doubtnut.com/l/_U1JoAFclpsab
https://dl.doubtnut.com/l/_kotaXcJUmjBB
https://dl.doubtnut.com/l/_n7afuLGirV7C


(d) 

Watch Video Solution

H2C = CBr2         (b)(H3)C)2C = CHCH3             (c)C6H5CH = CHC

CH3CH2 C
∣

CH3

= CHCH2CH3         (e)H3C − CH = CCl(CH3)

16. Classify the following as Z or E isomers : 

View Text Solution

17. The reductive ozonolysis of an alkene gave butanone and propanal.

Write the structure of alkene and its IUPAC name.

Watch Video Solution

18. Write IUPAC names of the products obtained by addition reactions of

 to hex-1-ene 
HBr

https://dl.doubtnut.com/l/_n7afuLGirV7C
https://dl.doubtnut.com/l/_X7kosvoUcpYZ
https://dl.doubtnut.com/l/_WWSCwLJ3YU3Q
https://dl.doubtnut.com/l/_ichsnVJaSoRF


(i) in the absence of peroxide and 

(ii) in the presence of peroxide.

Watch Video Solution

19. Ozonolysis of an alkene 'X' followed by decomposition with water and

a reducing agent gave a mixture of two isomers of the formula 

Give the structure of the alkene and its IUPAC name.

Watch Video Solution

C3H6O

20. Propanal and pentan-3-one are the ozonolysis products of an alkene.

What is the structural formula and IUPAC name of alkene.

Watch Video Solution

21. Write IUPAC names of the following: 

(i)  
CH2 = CH − C
∣

CH3

H − CH = CH − CH = CH2

https://dl.doubtnut.com/l/_ichsnVJaSoRF
https://dl.doubtnut.com/l/_hKSZPRGXGYZi
https://dl.doubtnut.com/l/_3PHtIBvLrloW
https://dl.doubtnut.com/l/_aTebmY5LzHFq


(ii) 

Watch Video Solution

CH ≡ C − C
∣

CH3

H − CH = CH2

22. Write structures of different isomers corresponding to the 5th

member of alkyne series. Also write IUPAC names of all the isomers. What

type of isomerism is exhibited by different pairs of isomers?

Watch Video Solution

23. How would you separate propene from propyne ?

Watch Video Solution

24. How would you carry out the following conversions ? 

(a)  


(b)  

H3CCH2 = CH2 → H3C − CH2CH2CH2OH

H3CCH2 − CH = CH2 → H3C − CH2 − CH(OH)CH2OH

https://dl.doubtnut.com/l/_aTebmY5LzHFq
https://dl.doubtnut.com/l/_ISiUhgGKe1OJ
https://dl.doubtnut.com/l/_o1GZgv2Y7aOf
https://dl.doubtnut.com/l/_r5eq000EF7MQ


(c)  


(d) 

Watch Video Solution

H3CC ≡ CH → H3CCOCH3

Br2CHCHBr2 → HC ≡ CH

25. Predict which of the following systems would be aromatic ? 

View Text Solution

26. Is the following molecule aromatic or not? 

View Text Solution

27. How will you convert ethanoic acid into benzene?

Watch Video Solution

https://dl.doubtnut.com/l/_r5eq000EF7MQ
https://dl.doubtnut.com/l/_m6q7qqrzVcNy
https://dl.doubtnut.com/l/_3lT87Va7ggm7
https://dl.doubtnut.com/l/_AfGkBu1JO2Th
https://dl.doubtnut.com/l/_QjndeiPcq1k5


28. How will you convert benzene into 

(i) p-nitrobromobenzene 

(ii) m-nitrochlorobenzene 

(iii) p -nitrotoluene 

(iv) acetophenone

Watch Video Solution

29. Calculate the percentages of all the monochlorinated products

obtained from 2-methylbutane. The relative reactivity of  and 

hydrogen towards chlorination is 1 : 3.8: 5.

Watch Video Solution

1∘ , 2∘ 3∘

30. How will you distinguish pent-1-ene from n-pentane?

Watch Video Solution

https://dl.doubtnut.com/l/_QjndeiPcq1k5
https://dl.doubtnut.com/l/_yP6RDJlaPh37
https://dl.doubtnut.com/l/_SjdZCTXsfson
https://dl.doubtnut.com/l/_uSZxXcGfqE7A


31. Complete the following reactions : 

(i)  


(ii)  


(c)  

(iv)  


(v) 

Watch Video Solution

Isopropyl bromide →
alc. KOH
−−−−→

Heat
A

HBr
−−−−→
Peroxide

B

n-Propyl alcohol
Conc .H2O
−−−−−→

443K
A

O2Ag

−−→
Heat

B

1, 1, 2, 2-tetrachloroethane →
Zn, alcohol
−−−−−→

Heat
A

Iron tube
−−−−→

675K
B

Acetylene →
NaNH2
−−−−→ A

CH3CH2Br
−−−−−−→ B

Propyne →
H2 ,Pd ,BaSO4

−−−−−−−−→
Quinoline

A
( i )O3

−−−−−−−→
( ii )Zn ,H2O

B

32. An alkene on ozonolysis gives butan-2-one and 2-methylpropanal.

What products will be obtained when it is treated with hot conc.

?

Watch Video Solution

KMnO4

33. An alkyl halide  (A) reacts with ethanolic KOH to give an alkene

'B' which reacts with  to give a compound 'C' which on

dehydromination gives an alkyne 'D' . On treatment with sodium metal in

C5H11

Br2

https://dl.doubtnut.com/l/_uSZxXcGfqE7A
https://dl.doubtnut.com/l/_d1J0eda1FDxQ
https://dl.doubtnut.com/l/_ukB80m90AiB5


liquid ammonia one mole of 'D' give one mole of the sodium salt of 'D'

and half a mole of hydrogen gas . Complete hydrogenation of 'D' yields a

straight chain alkane. Identify A, B, C and D . Give the the reactions

involved.

Watch Video Solution

34. An unsaturated hydrocarbon 'A' adds two molecules of  and on

reductive ozonolysis gives butane-1, 4-dial, ethanal and propanone. Give

the structure of 'A' , write its IUPAC name and explain the reactions

involved.

Watch Video Solution

H2

35. How will you convert : 

(a) Ethane to butane (b) Ethyne to methane 

(c) Ethene to ethyne (d) Methane to ethane 

(e) Propene to 2, 3-dimethylbutane (f) Ethane to ethyne 

(g) Ethyne to but-2-yne

https://dl.doubtnut.com/l/_ukB80m90AiB5
https://dl.doubtnut.com/l/_OeumvvqeX8Rr
https://dl.doubtnut.com/l/_SLPvJEZMC8nc


Watch Video Solution

36. A hydrocarbon containing two double bonds gave on reductive

ozonolysis ethanol, glyoxal and propanone. Predict the structure of the

hydrocarbon and give its IUPAC name.

Watch Video Solution

37. Assign structures for the following: 

(a) An alkyne (X) has molecular formula . It reacts neither with

sodamide nor with ammoniacal cuprous chloride. 

(b) A hydrocarbon Y decolourises bromine water. On ozonolysis it gives 3-

methyl butanal and formaldehyde. Give the name of the compound. 

(c) A hydrocarbon (Z) has molecular formula . It does not

decolourise bromine water and is oxidised to benzoic acid on heating

with . It can also have three other isomers A, B and C. Write the

structures of Z, A, B and C.

Watch Video Solution

C5H8

C8H10

K2Cr2O7

https://dl.doubtnut.com/l/_SLPvJEZMC8nc
https://dl.doubtnut.com/l/_6ZDgQtYJIhVV
https://dl.doubtnut.com/l/_k7aXjioDgo6w


38. The hydrocarbon [A] adds one mole of hydrogen in the presence of a

platinum catalyst to form n-hexane. When [A] is oxidised vigorously with

, a single carboxylic acid containing three carbon atoms is

isolated. Give the strucure of [A] and explain the reactions.

Watch Video Solution

KMnO4

39. A monosubstituted alkyl benzene of the formula  resists

vigorous oxidation to an aryl carboxylic acid. Name the compound and

write its various monosubstituted isomers.

Watch Video Solution

C10H14

40. A hydrocarbon 'X' takes up two molecules of hydrogen and is

converted into a saturated hydrocarbon. On ozonolysis, X gives a mixture

of three carbonyl compounds namely, acetaldehyde, acetone and propan-

1,3-dial. Assign structure to compound X.

https://dl.doubtnut.com/l/_k7aXjioDgo6w
https://dl.doubtnut.com/l/_VOM2XSYnQZyd
https://dl.doubtnut.com/l/_q9hQ1WG0tT8B
https://dl.doubtnut.com/l/_exrcKd00aVms


Watch Video Solution

41. Suggest a method (a flow sheet) to separate a mixture of ethane,

ethene and ethyne.

Watch Video Solution

42. Write chemical equations for combustion reaction of the following

hydrocarbons: 

(i) Butane 

(ii) Pentene 

(iii) Hexyne 

(iv) Toluene

Watch Video Solution

43. For the following compounds, write structural formulas and IUPAC

names for all possible isomers having the number of double or triple

https://dl.doubtnut.com/l/_exrcKd00aVms
https://dl.doubtnut.com/l/_uK6Hf3bNVLzG
https://dl.doubtnut.com/l/_zlnRlal4cIuE
https://dl.doubtnut.com/l/_7wU1XVjLOft1


Practice Problems

bond as indicated: 

(a) (one double bond) 


(b)  (one triple bond)

Watch Video Solution

C4H8

C5H8

44. 896 mL of a hydrocarbon 'A' having carbon 87.80 % and hydrogen

12.19% weighs 3.28 g at STP. Hydrogenation of 'A' gives 2-methylpentane.

Also 'A' on hydration in the presence of  and  gives a

ketone 'B' having molecular formula . The ketone 'B' gives a

positive iodoform test. Find the structure of 'A' and give the reaction

involved.

View Text Solution

H2SO4 HgSO4

C6H12O

https://dl.doubtnut.com/l/_7wU1XVjLOft1
https://dl.doubtnut.com/l/_STU12rCKGZno


1. Write the IUPAC names of the following structures : 

(a)(a)  


(b)  


(c)  


(d) 

Watch Video Solution

(C2H5)4                

(CH3)2CHCH(CH3)2

CH3CH2 C
∣

CH3

H(CH2)3 C
∣

CH3

H − C
∣

CH3

H − CH2CH3                

(CH3)3, CCH2C(CH3)3CH3

2. Write the structure for the compounds having the IUPAC names : 

(a) 3-Ethyl-2-methylpentane  (b) 2, 3, 5-Trimethylhexane 

(c) 2,3,5-Trimethyl-4-propylheptane

Watch Video Solution

           

3. Name the two extreme type of conformations of ethane.

Watch Video Solution

https://dl.doubtnut.com/l/_EzMDZNeJqv0k
https://dl.doubtnut.com/l/_av713hrESrUA
https://dl.doubtnut.com/l/_LsdSFmDj3Cl5
https://dl.doubtnut.com/l/_S6n2N3rFqJ93


4. Arrange the different type of conformations of butane in the

decreasing order of stability.

Watch Video Solution

5. Out of boat and chair form of cyclohexane, which is more stable ?

Watch Video Solution

6. Does the eclipsed conformation of propane has same energy or

different as eclipsed conformation of ethane?

Watch Video Solution

7. Arrange the following in the decreasing order of boiling points 

(i)n-Pentane (ii) Iso-pentane (iii) Neo-pentane

Watch Video Solution

https://dl.doubtnut.com/l/_S6n2N3rFqJ93
https://dl.doubtnut.com/l/_VqTry7Wg3yqC
https://dl.doubtnut.com/l/_SczR1AyFwlph
https://dl.doubtnut.com/l/_e0iPv52w1gPB


8. Arrange the following alkanes in the increasing order of their boiling

points: 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

n − C4H10 1 − C5H12 n − C3H8 n − C6H14

9. Name the products which may be obtained when a mixture of methyl

bromide and ethyl bromide is treated with sodium metal in ether.

Watch Video Solution

10. Which salt on treatment with soda lime gives ethane?

Watch Video Solution

11. Name the product obtained by heating butanoic acid with sodalime at

630 K. Name any other acid which also gives the same product under

https://dl.doubtnut.com/l/_e0iPv52w1gPB
https://dl.doubtnut.com/l/_ySTqIie4zTVP
https://dl.doubtnut.com/l/_8OKKHae8FwsK
https://dl.doubtnut.com/l/_ReTUyukxfwcK
https://dl.doubtnut.com/l/_8X7sqebyfhFc


similar conditions.

Watch Video Solution

12. Draw the structures of the following showing all  and  atoms: 


i) 2-Methyl-3-isopropyl heptane 

ii) Dicyclopropyl methane

Watch Video Solution

C H

13. Classify the following as E or Z isomers : 

View Text Solution

14. What is the formula of teflon ?

Watch Video Solution

https://dl.doubtnut.com/l/_8X7sqebyfhFc
https://dl.doubtnut.com/l/_JwWZq3R5lQ68
https://dl.doubtnut.com/l/_MmkMiG6xHc8x
https://dl.doubtnut.com/l/_iWejWaZmuSf8
https://dl.doubtnut.com/l/_wDrVXC47t1OS


15. An alkene ‘A’ on ozonolysis gives a mixture of ethanal and pentan-3-

one. Write structure and IUPAC name of ‘A’.

Watch Video Solution

16. How will propene react with HBr (i) in the presence of peroxide (ii) in

the absence of any peroxide ?

Watch Video Solution

17. Name two tests to test the presence of double bond in a compound.

Watch Video Solution

18. Name an alkene which on reductive ozonolysis produces only acetone.

Watch Video Solution

https://dl.doubtnut.com/l/_wDrVXC47t1OS
https://dl.doubtnut.com/l/_qAM6CRgUH5Oa
https://dl.doubtnut.com/l/_lHZ9chHUVGOE
https://dl.doubtnut.com/l/_6sAdHm63xUR2
https://dl.doubtnut.com/l/_oSnSx431CAAK


19. Complete the reaction : 

Watch Video Solution

CH2 = CH2

alk.KMnO4

−−−−−−→

20. Complete the reaction: 

View Text Solution

21. How will you prepare acetaldehyde from acetylene ?

Watch Video Solution

22. Which of the following alkynes react with sodium in liquid ammonia ? 

(i) Propyne (ii) But-2-yne (iii) Pent-3-yne (iv) Hex-1-yne

Watch Video Solution

https://dl.doubtnut.com/l/_oSnSx431CAAK
https://dl.doubtnut.com/l/_tABB56AmgE5V
https://dl.doubtnut.com/l/_GU6dagz3u2R0
https://dl.doubtnut.com/l/_41i2zSHInt2y


23. Name the process which may be used to locate the position of a triple

bond.

Watch Video Solution

24. Which of the following is most acidic 

(i) Butane (ii) But-1-ene (iii) But-1-yne (iv) But-2-yne ?

Watch Video Solution

25. What happens when water is dropped on calcium carbide ?

Watch Video Solution

26. Name the reagent X' in the reaction : 

Watch Video Solution

1, 2 − Dibromoethane
X

−−→ Acetylene

https://dl.doubtnut.com/l/_41i2zSHInt2y
https://dl.doubtnut.com/l/_3mTdLNjhFtkQ
https://dl.doubtnut.com/l/_tbsAnftfJr1z
https://dl.doubtnut.com/l/_rxJ4OQsYzMwa
https://dl.doubtnut.com/l/_KuRCo5KQk1Se


Watch Video Solution

27. Write chemical equation for the combustion of hexyne.

Watch Video Solution

28. Complete the reaction : 

Watch Video Solution

C6H6

O3
−−→ A

Zn ,H2O
−−−−→ B

29. Complete the reaction : 

Watch Video Solution

B
MnO2 ,H +

−−−−−−→ C6H5CH3

KmnO4 ,H +

−−−−−−−→
Heat

A

30. What is difference between alkylation and acylation ?

Watch Video Solution

https://dl.doubtnut.com/l/_KuRCo5KQk1Se
https://dl.doubtnut.com/l/_VFJqQ082RS08
https://dl.doubtnut.com/l/_sYnXsHhyigpt
https://dl.doubtnut.com/l/_IQvnl1MwSpTs
https://dl.doubtnut.com/l/_Hg56Kz76hOtR


31. What is halogen carrier ? Give one example.

Watch Video Solution

32. What is Huckel rule ?

Watch Video Solution

33. Which of the following are meta directors ? 

Watch Video Solution

−NO2, − SO3H, − Cl, − OH, − NH2, − CHO

34. Name an ortho-and para-directing deactivating group.

Watch Video Solution

https://dl.doubtnut.com/l/_Hg56Kz76hOtR
https://dl.doubtnut.com/l/_yBtTa1OeqsZB
https://dl.doubtnut.com/l/_3fWOxqFayVHr
https://dl.doubtnut.com/l/_VMWwYXYeNKvg
https://dl.doubtnut.com/l/_bQFf2IObwrBb


Conceptual Questions

1. Why do alkynes not show geometrical isomerism?

Watch Video Solution

2. Is it possible to isolate pure staggered ethane or pure eclipsed ethane

at room temperature?

Watch Video Solution

3. What is the difference between isomers and conformers?

Watch Video Solution

4. What is the cause of geometrical isomerism in alkenes ?

Watch Video Solution

https://dl.doubtnut.com/l/_eQA3iZ6NvULV
https://dl.doubtnut.com/l/_StUW00T8b4LZ
https://dl.doubtnut.com/l/_4T2OyqPd1eB2
https://dl.doubtnut.com/l/_f0EmgCTWRQp1


5. Draw the two geometrical isomers of but-2-en-1, 4-dioic acid. Which of

these will have higher dipole moment?

Watch Video Solution

6. How many isomers are possible for monosubstituted and disubstituted

benzene?

Watch Video Solution

7. Which of the two trans-but-2-ene or trans-pent-2.ene is non polar?

Watch Video Solution

8. Write the structural formula of all the possible isomers of 

and indicate which of these is non polar?

Watch Video Solution

C2H2Cl2

https://dl.doubtnut.com/l/_f0EmgCTWRQp1
https://dl.doubtnut.com/l/_C7m7CIytEWH8
https://dl.doubtnut.com/l/_bc76Okrysgt8
https://dl.doubtnut.com/l/_artXbJRqSxRx
https://dl.doubtnut.com/l/_8HG7PBzNCEbt


9. Arrange the following alkenes in the decreasing order of stability: 

(I)  

(II)  


(III) 

Watch Video Solution

CH3 −

CH3

∣

C = CHCH3

CH3 −

CH3

∣

CH − CH = CH2

CH2 = CH − CH2 − CH3

10. Why are 1,4 adducts of 1, 3-butadiene are more stable than 1, 2-

adduet?

Watch Video Solution

11. Which of the following is acidic : 

But-2-ene, But-2-yne, But-1-yne, But-1-ene

Watch Video Solution

https://dl.doubtnut.com/l/_8HG7PBzNCEbt
https://dl.doubtnut.com/l/_LJnd7Y9XuEZt
https://dl.doubtnut.com/l/_7Wzpvn4PqGp7
https://dl.doubtnut.com/l/_vHo8hj2miol5


12. Arrange the following in increasing order of their release of energy on

combustion 

View Text Solution

13. Arrange the following set of compounds in order of their decreasing

relative reactivity with an electrophile, .


(i) chlorobenzene, dinitrochlorobenzene, nitrochloro benzene


(ii) toluene,

Watch Video Solution

E +

2, 4 − p −

p − H3C − C6H4 − CH3, p − H3C − C6H4 − NO2, p − O2N − C6H4 − N

14. Write structures of all the alkenes which on hydrogenation give 2-

methylbutane.

Watch Video Solution

https://dl.doubtnut.com/l/_vHo8hj2miol5
https://dl.doubtnut.com/l/_tGTn1zOaFLaJ
https://dl.doubtnut.com/l/_xEVWvQizIk4T
https://dl.doubtnut.com/l/_mVnVTnHhspd3


15. What effect the branching of an alkane has on its boiling point?

Watch Video Solution

16. Why is benzene extra ordinarily stable though it contains three double

bonds?

Watch Video Solution

17. Suggest the name of a Lewis acid other than anhydrous aluminium

chloride which can be used during ethylation of benzene.

Watch Video Solution

18. Arrange benzene, n-hexane and ethyne in decreasing order ofacidic

behaviour.

https://dl.doubtnut.com/l/_mVnVTnHhspd3
https://dl.doubtnut.com/l/_UEDewsrB69Yf
https://dl.doubtnut.com/l/_yUurFbIC2MDz
https://dl.doubtnut.com/l/_7SEnznE4RzUu
https://dl.doubtnut.com/l/_gIntZjkilPKy


Ncert File Ncert Textbook Exercise

Watch Video Solution

19. Which of the following compounds are aromatic according to Huckel

rule? 

View Text Solution

20. How will you prepare deuteroisopropane ?

Watch Video Solution

1. How do you account for the formation of ethane during chlorination of

methane ?

Watch Video Solution

https://dl.doubtnut.com/l/_gIntZjkilPKy
https://dl.doubtnut.com/l/_aefDdk9NjCOK
https://dl.doubtnut.com/l/_lgmHiZJ4A5uW
https://dl.doubtnut.com/l/_5tUtPkcjgpRZ


2. Write IUPAC names of the following compounds: 

(a)  (b)  (c)  


 

(f)  

(g) 

View Text Solution

CH3CH = C(CH3)2 CH2 = CH − C ≡ C − CH3

CH3(CH2)4 C
∣

CH2 −CH (CH3 ) 2

H(CH2)3CH3

CH3 − CH = CH − CH2 − CH = CH − C
∣

C2H5

H − CH2 − CH = CH2

3. For the following compounds, write structural formulas and IUPAC

names for all possible isomers having the number of double or triple

bond as indicated: 

(a) (one double bond) 


(b)  (one triple bond)

Watch Video Solution

C4H8

C5H8

https://dl.doubtnut.com/l/_hTuu3J8hBVMJ
https://dl.doubtnut.com/l/_3MQ7NHXnBKVp


4. Write IUPAC names of the products obtained by the ozonolysis of the

following compounds: 

(i) Pent-2-ene (ii) 3,4-Dimethyl-hept-3-ene 

(iii) 2-Ethylbut-1-ene (iv) 1-Phenylbut-1-ene

Watch Video Solution

5. An alkene ‘A’ on ozonolysis gives a mixture of ethanal and pentan-3-one.

Write structure and IUPAC name of ‘A’.

Watch Video Solution

6. An alkene ‘A’ contains three C – C, eight C – H  bonds and one C – C 

 bond. ‘A’ on ozonolysis gives two moles of an aldehyde of molar mass

44 u. Write IUPAC name of ‘A’.

Watch Video Solution

(σ)

(π)

https://dl.doubtnut.com/l/_kJNH8zybv3zW
https://dl.doubtnut.com/l/_4zsEzNDXBDG0
https://dl.doubtnut.com/l/_r3hJ431u6WBO
https://dl.doubtnut.com/l/_NgGQHpd6Dktf


7. Propanal and pentan-3-one are the ozonolysis products of an alkene?

What is the structural formula of the alkene?

Watch Video Solution

8. Write chemical equations for combustion reaction of the following

hydrocarbons : 

(i) Butane (i) Pentane (iii) Hexупе (iv) Toluene

Watch Video Solution

9. Draw the cis and trans structures of hex-2-ene. Which isomer will have

higher b.p. and why?

Watch Video Solution

10. Why is benzene extra ordinarily stable though it contains three

double bonds?

https://dl.doubtnut.com/l/_NgGQHpd6Dktf
https://dl.doubtnut.com/l/_07p6sb4r9HHM
https://dl.doubtnut.com/l/_Xd18JHCKYUCY
https://dl.doubtnut.com/l/_oUQ22VhKOuBf


Watch Video Solution

11. What are the necessary conditions for any system to be aromatic?

A. The molecule should contain a cyclic cloud of delocalized -

electrons above and below the plane of the molecule

B. It should contain 
-electrons where n = 0, 1, 2, 3..etc.This is

known as Huckcl rule

C. Only A

D. Both A and B

Answer:

Watch Video Solution

π

(4n + 2)π

12. Explain why the following systems are not aromatic ? 

https://dl.doubtnut.com/l/_oUQ22VhKOuBf
https://dl.doubtnut.com/l/_6vWuOfgLknQn
https://dl.doubtnut.com/l/_VvxKRWC70F3I


View Text Solution

13. How will you convert benzene into 

(i) p-nitrobromobenzene 

(ii) m-nitrochlorobenzene 

(iii) p -nitrotoluene 

(iv) acetophenone

Watch Video Solution

14. In the alkane ,

identify  carbon atoms and give the number of H atoms

bonded to each one of these.

Watch Video Solution

H3C − CH2 − C(CH3)2 − CH2 − CH(CH3)2

1∘ , 2∘ , 3∘ ,

15. What effect does branching of an alkane chain has on its boiling

point?

https://dl.doubtnut.com/l/_VvxKRWC70F3I
https://dl.doubtnut.com/l/_spA7EAmx1hjl
https://dl.doubtnut.com/l/_p1EpCkSmJY2l
https://dl.doubtnut.com/l/_v1vcnbIdYvQg


Watch Video Solution

16. Addition of HBr to propene yields 2-bromopropane, while in the

presence of benzoyl peroxide, the same reaction yields 1-bromopropane.

Explain and give mechanism.

Watch Video Solution

17. Write down the products of ozonolysis of 1, 2-dimethylbenzene (o-

xylene). How does the result support Kekulé structure for benzene?

Watch Video Solution

18. Arrange benzene, n-hexane and ethyne in decreasing order of acidic

behaviour. Also give reason for this behaviour.

Watch Video Solution

https://dl.doubtnut.com/l/_v1vcnbIdYvQg
https://dl.doubtnut.com/l/_A2Al3s6Ps7ys
https://dl.doubtnut.com/l/_aLoNqGLSSYuP
https://dl.doubtnut.com/l/_CzyGjU3yMhIl
https://dl.doubtnut.com/l/_UBxJ6QoZr8Wc


19. Why does benzene undergo electrophilic substitution reactions easily

and nucleophilic substitutions with difficulty?

Watch Video Solution

20. How would you convert the following compounds into benzene? 

(i) Ethyne 

(ii) Ethene 

(iii) Hexane

Watch Video Solution

21. Write structures of all the alkenes which on hydrogenation give 2-

methylbutane.

Watch Video Solution

https://dl.doubtnut.com/l/_UBxJ6QoZr8Wc
https://dl.doubtnut.com/l/_IuSZSmbHvFWP
https://dl.doubtnut.com/l/_lVnC0HzamkMt


22. Arrange the following set of compounds in order of their decreasing

relative reactivity with an electrophile, E+ 

(a)   Chlorobenzene, 2,4-dinitrochlorobenzene, p-nitrochlorobenzene 

(b) Toluene, .

Watch Video Solution

p − H3C– C6H4– NO2, p − O2N– C6H4– NO2

23. Out of benzene, m-dinitrobenzene and toluene which will undergo

nitration most easily and why ?

Watch Video Solution

24. Suggest the name of a Lewis acid other than anhydrous aluminium

chloride which can be used during ethylation of benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_v3IyUlOMlUDN
https://dl.doubtnut.com/l/_I5F0LWaHQEsH
https://dl.doubtnut.com/l/_TBM9sG1NZ0CU


Ncert File Ncert Exemplar Problems Multiple Choice Questions Type I

25. Why is Wurtz reaction not preferred for the preparation of alkanes

containing odd number of carbon atoms? Illustrate your answer by taking

one example.

Watch Video Solution

1. Arrange the following in decreasing order of their boiling points. 

(A). n-butane 

(B). 2-methylbutane 

(C). n-pentane 

(D). 2,2-dimethylpropane

A. 

B. 

C. 

D. 

A > B > C > D

B > C > D > A

D > C > B > A

C > B > D > A

https://dl.doubtnut.com/l/_1Z2ScLyWKXt5
https://dl.doubtnut.com/l/_RfAuGB0xHym2


Answer: D

Watch Video Solution

2. Arrange the halogens  in order of their increasing

reactivity with alkanes.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2, Cl2, Br2, I2

I2 < Br2 < Cl2 < F2

Br2 < Cl2 < F2 < I2

F2 < Cl2 < Br2 < I2

Br2 < I2 < Cl2 < F2

3. The increasing order of reduction of alkyl halides with zinc and dilute

HCl is

https://dl.doubtnut.com/l/_RfAuGB0xHym2
https://dl.doubtnut.com/l/_MogZnqpE9aGm
https://dl.doubtnut.com/l/_emVwJNBMszY2


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

R − Cl < R − I < R − Br

R − Cl < R − Br < R − I

R − I < R − Br < R − Cl

R − Br < R − I < R − Cl

4. The addition of HBr to but-1-ene gives a mixture of products A, B and C 

 

(c)  


The mixture consists of

A. A and B as major and C as minor products

B. B as major, A and C as minor products

C. B as minor, A and C as major products

D. A and B as minor and C as major products

CH3 − CH2 − CH2 − CH2 − Br

https://dl.doubtnut.com/l/_emVwJNBMszY2
https://dl.doubtnut.com/l/_sAum08z7ENaH


Answer:

View Text Solution

5. Which of the following will not show geometrical isomerism ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6. Arrange the following hydrogen halides in order of their decreasing

reactivity with propene.

https://dl.doubtnut.com/l/_sAum08z7ENaH
https://dl.doubtnut.com/l/_l2JFfZVQSjwe
https://dl.doubtnut.com/l/_N2fTclZbhFgo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HCl > HBr > HI

HBr > HI > HCl

HI > HBr > HCl

HCl > HI > HBr

7. Arrange the following carbanions in order of their decreasing stability.

(A) 


(B) 


(C) 

A. 

B. 

C. 

D. 

H3C − C ≡ C −

H − C ≡ C −

H3C– CH −
2

A > B > C

B > A > C

C > B > A

C > A > B

https://dl.doubtnut.com/l/_N2fTclZbhFgo
https://dl.doubtnut.com/l/_fbxcJCeJVC42


Answer: B

Watch Video Solution

8. Arrange the following alkyl halides in decreasing order of the rate of -

elimination reaction with alcoholic . 


A.  

B.  

C. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

β

KOH

CH3 −

H

∣

C
∣

CH3

− CH2Br

CH3 − CH2 − Br

CH3 − CH2 − CH2 − Br

A > B > C

C > B > A

B > C > A

A > C > B

https://dl.doubtnut.com/l/_fbxcJCeJVC42
https://dl.doubtnut.com/l/_YwjLj1W2sXR5


Ncert File Ncert Exemplar Problems Multiple Choice Questions Type Ii

9. Which of the following reactions of methane is incomplete combustion:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2CH4 + O2

Cu//523K//100atm
−−−−−−−−−−−→ 2CH3OH

CH4 + O2

Mo2O3

−−−→ HCHO + H2O

CH4 + O2 → C(s) + 2H2O(l)

CH4 + 2O2 → CO2(g) + 2H2O(l)

1. Some oxidation reactions of methane are given below. Which of them

is/ are controlled oxidation reactions?

A. CH4 + 2O2 → CO2(g) + 2H2O(l)

https://dl.doubtnut.com/l/_YwjLj1W2sXR5
https://dl.doubtnut.com/l/_9ckGLvQ6uVZh
https://dl.doubtnut.com/l/_GM3B7MlDXjjI


B. 

C. 

D. 

Answer:

View Text Solution

CH4 + O2 → C(s) + 2H2O(l)

CH4 + O2

Mo2O3

−−−→ HCHO + H2O

2CH4 + O2

Cu//523K//100atm
−−−−−−−−−−−→ 2CH3OH

2. Which of the following alkenes on ozonolysis give a mixture of ketones

only?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH2 − CH = CH − CH3

CH3 − C
∣

CH3

− CH = CH2

https://dl.doubtnut.com/l/_GM3B7MlDXjjI
https://dl.doubtnut.com/l/_jhdm6zbWaffz


3. Which are the correct IUPAC names of the following compound? 

A. 5-Butyl-4-isopropyldecane

B. 5-Ethyl-4-propyldecane

C. 5-sec-Butyl -- 4-iso-propyldecane

D. 4- (1-methylethyl)-5- (1-methylpropyl) -decane

Answer:

Watch Video Solution

H3C − CH2 − CH2 −

HC (CH3 ) 2

∣

C H − C
∣

H3C−CH −CH2CH3

H − CH2 − CH2 − C

4. Which are the correct IUPAC names of the following compound? 

H3C − CH2 − CH2 − CH2 − C
∣

CH2

∣

H3 −C−CH3

∣

CH3

H − CH2 − CH2 − CH2 − CH2

https://dl.doubtnut.com/l/_jhdm6zbWaffz
https://dl.doubtnut.com/l/_4UT77ctwhv08
https://dl.doubtnut.com/l/_FuT6reh9lXrh


A. 5-2, 2-Dimethylpropyl) -decane

B. 4-Butyl-2,2-dimethylnonane

C. 2, 2-Dimethyl-4-pentyloctane

D. 5-neo-Pentyldecane

Answer:

Watch Video Solution

5. For an electrophilic substitution reaction , the presence of a halogen

atom in the benzene ring …..

A. doactivates the ring by inductive effect

B. deactivates the ring by resonance

C. increases the charge density at ortho and para position relative to

meta position by resonance

https://dl.doubtnut.com/l/_FuT6reh9lXrh
https://dl.doubtnut.com/l/_FDtY8mljyZy2


D. directs the incoming electrophile to meta position by increasing

the charge density relative to ortho and para position

Answer:

Watch Video Solution

6. In an electrophilic substitution reaction of nitrobenzene, the presence

of nitro group

A. deactivates the ring by inductive effect.

B. activates the ring by inductive effect.

C. decreases the charge density at ortho and para position of the ring

relative to meta position by resonance.

D. increases the charge density at meta position relative to the ortho

and para positions of the ring by resonance.

Answer: C

https://dl.doubtnut.com/l/_FDtY8mljyZy2
https://dl.doubtnut.com/l/_BIPjqGxvQbrD


Watch Video Solution

7. Which of the following are correct?

A.  is more stable than 

B.  is less stable than 

C.  is more stable than 

D.  is more stable than 

Answer:

Watch Video Solution

CH3 − O − CH ⊕
2 CH3 − CH ⊕

2

(CH3)2CH
⊕ CH3 − CH2 − CH ⊕

2

CH2 = CH − CH ⊕ CH3 − CH2 − CH ⊕
2

CH2 = CH ⊕ CH3 − CH ⊕
2

8. Four structures are given in options (a) to (d) . Examine them and

select the aromatic structures.

A. 

B. 

https://dl.doubtnut.com/l/_BIPjqGxvQbrD
https://dl.doubtnut.com/l/_vQldiNcP0Phq
https://dl.doubtnut.com/l/_hXfdYRlsNf51


Ncert File Ncert Exemplar Problems Short Answer Questions

C. 

D. 

Answer:

Watch Video Solution

9. The molecules having dipole moment are :

A. 2,2-Dimethylpropane

B. trans-Pent-2-ene

C. cis-Hex-3-ene

D. 2, 2, 3, 3-Tetramethylbutane,

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hXfdYRlsNf51
https://dl.doubtnut.com/l/_gqBh31putFNl


1. Why do alkenes prefer to undergo electrophilec addition reaction while

arenes prefer electrophilic substitution reactions ? Explain.

Watch Video Solution

2. Alkynes on reduction with sodium in liquid ammonia form trans

alkenes. Will the butene thus formed on reduction of but-2-yne show the

geometrical isomerism?

View Text Solution

3. Rotation around carbon-carbon single bond of ethane is not

completely free. Justify the statement.

Watch Video Solution

https://dl.doubtnut.com/l/_1YrsteB44nRO
https://dl.doubtnut.com/l/_R7KnkKTDunwf
https://dl.doubtnut.com/l/_NkzBHsF0JUmz


4. Draw Newman and Sawhorse projections for the eclipsed and

staggered conformations of ethane. Which of these conformations is

more stable and why ?

Watch Video Solution

5. The intermediate carbocation formed in the reactions of , , and

 with propene is the same and the bond energy of , , and 

 is  and  respectively.

What will be the order of reactivity of these halogen acids?

Watch Video Solution

HI HBr

HCl HCl HBr

HI 430.5KJmol− 1, 363.7KJmol− 1 296.8KJmol− 1

6. What will be product obtained as a result of following reaction and

why? 

View Text Solution

https://dl.doubtnut.com/l/_4kdBg9XKWF6x
https://dl.doubtnut.com/l/_X26p3ef9Ueyj
https://dl.doubtnut.com/l/_XT6khXjlQnzU


7. How will you convert benzene into: 

(i) p-nitrobromobenzene 

(ii) m-nitrobromobenzene

Watch Video Solution

8. Arrange the following set of compounds in the order of decreasing

reactivity with an electrophile. Give reason. 

View Text Solution

9. Despite their  effect, halogens are o- and p- directing in haloarenes.

Explain .

Watch Video Solution

−I

https://dl.doubtnut.com/l/_HOicFF24GVHA
https://dl.doubtnut.com/l/_XrEmH6AgFspP
https://dl.doubtnut.com/l/_VjxHzdaolOVE


10. Why does presence of a nifro group make the benzene ring less

reactive in comparison to the unsubstituted benzene ring . Explain .

Watch Video Solution

11. Suggest a route for the preparation of nitrobenzene starting from

acetylene?

Watch Video Solution

12. Predict the major product(s) of the following reactions and explain

their formation. 

 

Watch Video Solution

H3C − CH = CH2

Ph−CO−O2H
−−−−−−−−−→

HBr

H3C − CH = CH2

HBr
−−→

https://dl.doubtnut.com/l/_Kk6cG24LuuV2
https://dl.doubtnut.com/l/_pTVUmjsubm1h
https://dl.doubtnut.com/l/_BFGVk9O0ZY4t


13. Nucleophiles and electrophiles are reaction intermediates having

electron rich and electron deficient centres respectively . Hence, they tend

to attack electron deficient and electron rich centres respectively. Classify

the following species as electrophiles and uncheophiles. 

(i)  


(ii) 


(iii)Cl 

(iv)  


(v)  


(vi)  


(vii)  


(viii) R-NH-R

Watch Video Solution

H3CO
−

H3C −

O

∣ ∣

C − O−

Cl2C :

(H3C)3C
+

Br−

H3COH

14. The relative reactivity of  and  hydrogen's towards

chlorination is . Calculate the percentages of all monochlorinated

products obtained from 2-methylbutane.

1∘ , 2∘ 3∘

1: 3.8: 5

https://dl.doubtnut.com/l/_FmXibgZVD5Xw
https://dl.doubtnut.com/l/_ZZ5xlAnIsy3p


Watch Video Solution

15. Write the structures and names of products obtained in the reactions

of sodium with a mixture of 1-iodo-2-methylpropane and 2-iodopropane.

Watch Video Solution

16. Write hydrocarbon radicals that can be formed as intermediates

during monochlorination of 2-methylpropane ? Which of them is more

stable? Give reasons.

Watch Video Solution

17. An alkane  is obtained as the only product on subjecting a

primary alkyl halide to Wurtz reaction. On monobromination this alkane

yields a single isomer of a tertiary bromide. Write the structure of alkane

and the tertiary bromide.

W t h Vid S l ti

C8H18

https://dl.doubtnut.com/l/_ZZ5xlAnIsy3p
https://dl.doubtnut.com/l/_KphZnZH5FM1x
https://dl.doubtnut.com/l/_NRpASMgKdZyt
https://dl.doubtnut.com/l/_E1bNfuGQLV7W


Watch Video Solution

18. The ring systems having following characteristics are aromatic. 

(i) Planar ring containing conjugated  bonds . 


(ii) Complete delocalisation of the  -electron in ring system i.e. , each

atom in the ring has unhybridised p-orbital , and 

(iii) Presence of -electrons in the ring where n is an integer(n =

0, 1, 2, .......) [Huckel rule]. Using this information classify the following

compounds as aromatic/non-aromatic. 

Watch Video Solution

π

π

(4n + 2)π

19. Which of the following compounds are aromatic according to Huckel's

rule? 

Vi T S l i

https://dl.doubtnut.com/l/_E1bNfuGQLV7W
https://dl.doubtnut.com/l/_5PHmvxXJG9Di
https://dl.doubtnut.com/l/_SM5O3IxsahuI


Ncert File Ncert Exemplar Problems Match Type Questions

View Text Solution

20. Suggest a route to prepare ethyl hydrogensulphate

 starting from ethanol  .

Watch Video Solution

(CH3 − CH2 − OSO2 − OH) (C2H5OH)

1. Match the reagent from Column I which on reaction with

, gives some product given in Column II as per the

codes given below: 

View Text Solution

CH3 − CH = CH2

2. Match the hydrocarbons in Column I with the boiling points given in

Column II. 

https://dl.doubtnut.com/l/_SM5O3IxsahuI
https://dl.doubtnut.com/l/_siaeY7biv9cV
https://dl.doubtnut.com/l/_UFZgyyeXQZt2
https://dl.doubtnut.com/l/_Mhy7Vmr0dqaH


Ncert File Ncert Exemplar Problems Assertion And Reason Type Questions

View Text Solution

3. Match the following reactants in Column I with the corresponding

reaction products in Column II. 

View Text Solution

4. Match the reactions given in Column I with the reaction types in

Column II. 

View Text Solution

https://dl.doubtnut.com/l/_Mhy7Vmr0dqaH
https://dl.doubtnut.com/l/_PX1wNk7fEg5x
https://dl.doubtnut.com/l/_ZuZeXRIIrnQC


1. Assertion (A) : Toluene on Friedel-Crafts Methylation gives o - and p-

xylene. 

Reason ( R) :  group bonded to benzene ring increases density at o -

and p- position.

A. Both A and R are correct and R is the correct explanation of A.

B. Both A and R are correct but R is not the correct explanation of A.

C. Both A and R are not correct.

D. A is not correct but R is correct.

Answer: A

Watch Video Solution

CH3

2. S-I: Nitration of benzene with nitric acid requires the use of

concentrated sulphuric acid 

S-II: The mixture of concentrated sulphuric acid and concentrated nitric

acid produces the electrophile, nitronium ion.

https://dl.doubtnut.com/l/_Q8MIN8IQNIUh
https://dl.doubtnut.com/l/_IP66JKqTHXOt


A. Both A and R are correct and R is the correct explanation of A.

B. Both A and R are correct but R is not the correct explanation of A.

C. Both A and R are not correct.

D. A is not correct but R is correct.

Answer: A

Watch Video Solution

3. Assertion (A) : Among isomeric pentanes, 2, 2- dimethylpentane has

highest boiling point. 

Reason (R) : Branching does not affect the boiling point.

A. Both A and R are correct and R is the correct explanation of A.

B. Both A and R are correct but R is not the correct explanation of A.

C. Both A and R are not correct.

D. A is not correct but R is correct.

https://dl.doubtnut.com/l/_IP66JKqTHXOt
https://dl.doubtnut.com/l/_xsq6FXzFfQaa


Ncert File Ncert Exemplar Problems Long Answer Questions

Answer: C

Watch Video Solution

1. An alkyl halide  (A) reacts with ethanolic  to give an

alkene 'B' which reacts with  to give a compound 'C' which on

dehydrobromination gives an alkyne 'D'. On treatment with sodium metal

in liquid ammonia one mole of 'D' give one mole of the sodium salt of 'D'

and half a mole of hydrogen gas. Complete hydrogenation of 'D' yields a

straight chain alkane. Identify A, B, C and D. Give the the reactions

involved.

Watch Video Solution

C5H11Br KOH

Br2

2. An unsaturated hydrocarbon 'A' adds two molecules of  and on

reductive ozonolysis gives butane-1, 4-dial, ethanal and propanone. Give

H2

https://dl.doubtnut.com/l/_xsq6FXzFfQaa
https://dl.doubtnut.com/l/_kkns4hWguQp2
https://dl.doubtnut.com/l/_5QHJqNyCuDDm


Revision Exercises Passage Based Questions

the structure of 'A' , write its IUPAC name and explain the reactions

involved.

Watch Video Solution

3. In the presence of peroxide addition of  to propene takes place

according to anti Markownikoff's rule but peroxide effect is not seen in

the case of  and . Explain.

Watch Video Solution

HBr

HCl HI

1. Benzene is a planar molecule and has 6 (4n + 2)  electrons. Inspite of

three double bonds, it is extra ordinarily stable and does not undergo

addition reactions as expected. It undergoes electrophilic substitution

reactions in which one or more hydrogen atoms of the ring are replaced

by other atoms or groups : 

π

https://dl.doubtnut.com/l/_5QHJqNyCuDDm
https://dl.doubtnut.com/l/_GYJfVGpBn8UD
https://dl.doubtnut.com/l/_R3b6OEgxY03Q


 

What product is obtained when benzene is treated with acetyl chloride in

the presence of ?

View Text Solution

AICI3

2. Benzene is a planar molecule and has 6 (4n + 2)  electrons. Inspite of

three double bonds, it is extra ordinarily stable and does not undergo

addition reactions as expected. It undergoes electrophilic substitution

reactions in which one or more hydrogen atoms of the ring are replaced

by other atoms or groups : 

 

Why is benzene extraordinarily stable though it contains three double

bonds?

View Text Solution

π

3. Benzene is a planar molecule and has 6 (4n + 2)  electrons. Inspite of

three double bonds, it is extra ordinarily stable and does not undergo

π

https://dl.doubtnut.com/l/_R3b6OEgxY03Q
https://dl.doubtnut.com/l/_8h2mBoCEyfnQ
https://dl.doubtnut.com/l/_DJslIotGtWqa


addition reactions as expected. It undergoes electrophilic substitution

reactions in which one or more hydrogen atoms of the ring are replaced

by other atoms or groups : 

 

Complete the reaction : 

View Text Solution

4. The alkenes have -bonds which make them highly reactive. These

undergo electrophilic addition reactions, Addition of HX to

unsymmetrical alkenes gives two products and follow Markovnikov rule

and anti- Markovnikov rule. The addition occure through the formation of

carbocation in Markovnikov rule and free radicals in anti-Markovnikov

zule. The ozonolysis reaction of alkenes helps to locate the position of

double bond. 

Predict the major product in the following reaction: 

Watch Video Solution

π

CH3 − CH = CH2

HBr
−−−−−−→
(PhCOO ) 2

https://dl.doubtnut.com/l/_DJslIotGtWqa
https://dl.doubtnut.com/l/_Zu14aBdbVc7p


5. The alkenes have -bonds which make them highly reactive. These

undergo electrophilic addition reactions, addition of  to

unsymmetrical alkenes gives two products and follow Markovnikov rule

and anti- Markovnikov rule. The addition occurs through the formation of

carbocation in Markovnikov rule and free radicals in anti-Markovnikov

rule. The ozonolysis reaction of alkenes helps to locate the position of

double bond. 

Write the major product in the following reaction: 

Watch Video Solution

π

HX

CH3 −

CH3

∣

CH − CH = CH2
HBr
−−→

6. The alkenes have -bonds which make them highly reactive. These

undergo electrophilic addition reactions, Addition of HX to

unsymmetrical alkenes gives two products and follow Markovnikov rule

and anti- Markovnikov rule. The addition occure through the formation of

π

https://dl.doubtnut.com/l/_Zu14aBdbVc7p
https://dl.doubtnut.com/l/_2MKaGPg2UKHs
https://dl.doubtnut.com/l/_mWRp0e1p9MkB


carbocation in Markovnikov rule and free radicals in anti-Markovnikov

zule. The ozonolysis reaction of alkenes helps to locate the position of

double bond. 

What product is obtained when propene reacts with  in the presence

of water?

Watch Video Solution

CI2

7. The alkenes have -bonds which make them highly reactive. These

undergo electrophilic addition reactions, Addition of HX to

unsymmetrical alkenes gives two products and follow Markovnikov rule

and anti- Markovnikov rule. The addition occure through the formation of

carbocation in Markovnikov rule and free radicals in anti-Markovnikov

zule. The ozonolysis reaction of alkenes helps to locate the position of

double bond. 

Name the products formed when 2-methylpropene is treated with ozone

followed by .

Watch Video Solution

π

Zn, H2O

https://dl.doubtnut.com/l/_mWRp0e1p9MkB
https://dl.doubtnut.com/l/_8unsCIX7oJib


8. The alkenes have -bonds which make them highly reactive. These

undergo electrophilic addition reactions, Addition of HX to

unsymmetrical alkenes gives two products and follow Markovnikov rule

and anti- Markovnikov rule. The addition occure through the formation of

carbocation in Markovnikov rule and free radicals in anti-Markovnikov

zule. The ozonolysis reaction of alkenes helps to locate the position of

double bond. 

Ozonolysis of an alkene 'A' followed by decomposition with water and a

reducing agent gave a mixture of two isomers of the formula .

Give the structure of the alkene and its IUPAC name.

Watch Video Solution

π

C3H6O

9. Alkynes have a triple bond between carbon-carbon in their molecules.

Terminal alkynes are acidic. They undergo addition reactions like alkenes.

But in alkynes the addition occurs in two steps: 

 

https://dl.doubtnut.com/l/_WopQBUx4Hnnj
https://dl.doubtnut.com/l/_EkXsbPBKiHLb


An alkyne having molecular formula  neither reacts with sodamide

nor with ammoniacal cuprous chloride. Write the name of alkyne.

View Text Solution

C6H8

10. Alkynes have a triple bond between carbon-carbon in their molecules.

Terminal alkynes are acidic. They undergo addition reactions like alkenes.

But in alkynes the addition occurs in two steps: 

 

State the hybridisation of C-2, C-5 and C-6 of the compound. 

View Text Solution

CH3 −

CH3

∣

C
∣

CH3

− CH = CH −

CH3

∣

C H − C ≡ CH

11. Alkynes have a triple bond between carbon-carbon in their molecules.

Terminal alkynes are acidic. They undergo addition reactions like alkenes.

But in alkynes the addition occurs in two steps: 

 

https://dl.doubtnut.com/l/_EkXsbPBKiHLb
https://dl.doubtnut.com/l/_7iowwSooxCZX
https://dl.doubtnut.com/l/_B8Cg3tcnuLPE


Revision Exercises True Or False Questions

Complete the reaction : 

View Text Solution

CH3 − C ≡ CH
HOCl
−−→

12. Alkynes have a triple bond between carbon-carbon in their molecules.

Terminal alkynes are acidic. They undergo addition reactions like alkenes.

But in alkynes the addition occurs in two steps: 

 

Which of the following reagent will convert but-2-yne into cis-but-2-ene? 

(i) , quinoline 


(ii) Na in liquid  at 196-200 K ?

View Text Solution

Pd, BaSO4

NH3

https://dl.doubtnut.com/l/_B8Cg3tcnuLPE
https://dl.doubtnut.com/l/_78ClGsFuApcO


1. The boiling point of 2, 3-dimethylbutane is higher than that of 2,2-

dimethylbutane.

Watch Video Solution

2. The staggered conformation of ethane is more stalble than its elispsed

conforamtion by about

Watch Video Solution

3. Cyclohexane mainly exists in boat conformation

View Text Solution

4. Write a note on the following reactions.

Electrolysis of potassium succinate

Watch Video Solution

https://dl.doubtnut.com/l/_t39KbIk4Wz3h
https://dl.doubtnut.com/l/_0TefqUHLWRkr
https://dl.doubtnut.com/l/_v7gx6B0VTMay
https://dl.doubtnut.com/l/_jGooBbAjQeAv


5. Bromine water can be used to distinguish between ethene and ethyne.

Watch Video Solution

6. Moist ethene can be dried by passing it through conc. .

Watch Video Solution

H2SO4

7. Butan-1-ol reacts with cone.  to give but-2-ene.

Watch Video Solution

H2SO4

8. Propyne is less acidic than acetylene.

Watch Video Solution

https://dl.doubtnut.com/l/_jGooBbAjQeAv
https://dl.doubtnut.com/l/_TJvdEBkKnU6j
https://dl.doubtnut.com/l/_w14THxYx75EE
https://dl.doubtnut.com/l/_ozRj2HB3lTEY
https://dl.doubtnut.com/l/_aAEoCBW3Z83M


Revision Exercises Fill In The Blanks Questions

9. Nitration of nitrobenzene gives mainly m-dinitro benzene.

Watch Video Solution

10. Chlorobenzene on reduction with  give toluene.

Watch Video Solution

Ni − Alalloy/NaOH

1. All the carbon atoms in benzene are ....... hybridised.

Watch Video Solution

2. When .......... is passed through red hot iron tube at 878 K, benzene is

formed.

Watch Video Solution

https://dl.doubtnut.com/l/_FEJ3sajZZdsS
https://dl.doubtnut.com/l/_TKo3bXbcioyc
https://dl.doubtnut.com/l/_ItzNAB7uG66h
https://dl.doubtnut.com/l/_dXhfz6vAdkDW


3. Propyne on ozonolysis gives .........

Watch Video Solution

4. The reaction of ethene with bromine is ……… reaction.

Watch Video Solution

5. The addition of HBr to propene in the presence of peroxides follows

..........rule.

View Text Solution

6. The alkaline potassium permanganate solution is known as .........

Watch Video Solution

https://dl.doubtnut.com/l/_dXhfz6vAdkDW
https://dl.doubtnut.com/l/_sUgOdWXAyCGv
https://dl.doubtnut.com/l/_sIBb7RkOPmPa
https://dl.doubtnut.com/l/_9WhGumeRwwcp
https://dl.doubtnut.com/l/_t8yXNfoO0Btc
https://dl.doubtnut.com/l/_zZyH9HhfJqxb


Revision Exercises Assertion Reason Questions

7. The chain isomer of pent-1-yne is ...........

Watch Video Solution

8. Alkynes are .......... acidic than alkenes.

Watch Video Solution

9. 2-Butyne on catalytic reduction with Lindlar's catalyst gives mainly ..........

product.

Watch Video Solution

10. Electrolysis of potassium fumarate gives ...........

Watch Video Solution

https://dl.doubtnut.com/l/_zZyH9HhfJqxb
https://dl.doubtnut.com/l/_h9cjOYHx1dND
https://dl.doubtnut.com/l/_LhN6YAA33fue
https://dl.doubtnut.com/l/_NSpMnhfi5yo7


1. Assertion: Addition of  to -butane gives two optical isomers. 


Reason: The product contains one asymmetric carbon atoms.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: A

Watch Video Solution

Br2 1

2. Assertion  Alkyl benzene is not prepared by Friedel  Crafts

alkylation of benzene. 

Reason  Alkyl halides are more reactive than acyl halides.

: −

:

https://dl.doubtnut.com/l/_HzZutOPMA8cD
https://dl.doubtnut.com/l/_MRQed9qxvBb5


A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: A

Watch Video Solution

3. Assertion : Lactic acid shows geometrical isomerism. 

Reason : it has C = C bond.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

https://dl.doubtnut.com/l/_MRQed9qxvBb5
https://dl.doubtnut.com/l/_dyktGXiTLnZy


B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion AND reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: B

Watch Video Solution

4. Assertion  trans Butene on reaction with  gives meso

dibromobutane. 


Reason  The reaction involves syn addition of bromine.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

: −2 − Br2

−2, 3 −

: −

https://dl.doubtnut.com/l/_dyktGXiTLnZy
https://dl.doubtnut.com/l/_OzvbIoxoEBhn


D. Assertion is wrong statement but reason is correct statement

Answer: D

Watch Video Solution

5. Assertion : Acetylene is more acidic than ethylene. 

Reason : Acetylene has sp character of carbon and, therefore, more s-

character.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: A

https://dl.doubtnut.com/l/_OzvbIoxoEBhn
https://dl.doubtnut.com/l/_WzqOePUBGVG9


Watch Video Solution

6. Assertion : Propene reacts with HBr in the presence of peroxides to give

1-bromopropane. 

Reason : Alkenes react with HBr in the presence of peroxides according to

anti Markovnikov's rule.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WzqOePUBGVG9
https://dl.doubtnut.com/l/_1eUQqXEW9r9O


7. Assertion : Terminal alkynes on oxidation with Bayer's reagent give a

mixture of carboxylic acid and  

Reason : Terminal alkynes show acidic character.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: B

Watch Video Solution

CO2

8. Assertion: Nitration of benzene leads to the formation of m-nitro

benzene. 

https://dl.doubtnut.com/l/_U0dZk7CS8YJX
https://dl.doubtnut.com/l/_8TZv6NgCkJfN


Reason:  roup is a m-directing group.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: C

Watch Video Solution

−NO2

9. Assertion :  is aromatic. 

Reason : It contains  electrons.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

4π

https://dl.doubtnut.com/l/_8TZv6NgCkJfN
https://dl.doubtnut.com/l/_2wvDFVFM21pR


B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: D

View Text Solution

10. Assertion : Buta-1, 3-diene and but-1-yne can be distinguished with

Tollen's reagent. 

Reason : But-1-yne gives ppt. with Tollen's reagent but buta-1, 3-cliene

does not.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

https://dl.doubtnut.com/l/_2wvDFVFM21pR
https://dl.doubtnut.com/l/_D6txToI0mKVc


Revision Exercises Very Short Answer Questions

C. Assertion is correct statement but reason is wrong statement

D. Assertion is wrong statement but reason is correct statement

Answer: A

Watch Video Solution

1. Define conformations.

Watch Video Solution

2. Name the stable conformation of cyclohexane.

Watch Video Solution

3. Can ethene show conformations? Why?

https://dl.doubtnut.com/l/_D6txToI0mKVc
https://dl.doubtnut.com/l/_35sgdPRsX3JA
https://dl.doubtnut.com/l/_La4kJLAKqPgg
https://dl.doubtnut.com/l/_BTqM9vNKpqOk


Watch Video Solution

4. What is the number of  and -bonds in a molecule of ethyne?

Watch Video Solution

σ π

5. Why do alkenes undergo electrophilic addition reactions ?

Watch Video Solution

6. What are conjugated dienes? Give one example.

Watch Video Solution

7. What is CNG? What is its use?

Watch Video Solution

https://dl.doubtnut.com/l/_BTqM9vNKpqOk
https://dl.doubtnut.com/l/_ICATHEHIXH4I
https://dl.doubtnut.com/l/_G0PzWADbZAQH
https://dl.doubtnut.com/l/_7SzGRLUvqwM0
https://dl.doubtnut.com/l/_ka7tBQgH9G1S
https://dl.doubtnut.com/l/_AhCpRv8xgo62


8. Why are all C to C bond lengths in benzene equal ?

Watch Video Solution

9. Why do alkynes not show geometrical isomerism ?

Watch Video Solution

10. What type of hybridisation of carbon is involved in benzene?

Watch Video Solution

11. Which of the two can exhibit geometrical isomerism ? But-2-ene or But-

1-ene.

Watch Video Solution

https://dl.doubtnut.com/l/_AhCpRv8xgo62
https://dl.doubtnut.com/l/_xH1jWQCkHvSQ
https://dl.doubtnut.com/l/_pb2eZ2n2NTuf
https://dl.doubtnut.com/l/_Ds2iXbawue9P


12. What is Markovnikov's rule ?

Watch Video Solution

13. What is Lindlar's catalyst?

Watch Video Solution

14. What is the chemical composition of teflon ?

Watch Video Solution

15. How will you convert benzene into nitrobenzene?

Watch Video Solution

16. Give a chemical test to distinguish between ethane and ethene.

https://dl.doubtnut.com/l/_SYYPUxFGCbyQ
https://dl.doubtnut.com/l/_Kgoeak5G2nSq
https://dl.doubtnut.com/l/_gKIh0aCCoLdL
https://dl.doubtnut.com/l/_JGFaEwIyXnuk
https://dl.doubtnut.com/l/_Ev2agFS2xS5i


Watch Video Solution

17. What happens when a mixture of methyl bromide and ethyl bromide is

treated with dry sodium in the presence of anhydrous ether?

Watch Video Solution

18. What happens when water is added to calcium carbide ?

Watch Video Solution

19. Prepare from acetylene : Propyne

Watch Video Solution

20. Complete the reaction : 

CH3CH = CH2

HBr
−−→

https://dl.doubtnut.com/l/_Ev2agFS2xS5i
https://dl.doubtnut.com/l/_hxVILXMFG8wy
https://dl.doubtnut.com/l/_OHerpjkXukPe
https://dl.doubtnut.com/l/_BtGio9byClqd
https://dl.doubtnut.com/l/_U6TlKG35Vm4g


Watch Video Solution

21. What does LPG represent?

Watch Video Solution

22. Why alkenes are known as olefins?

Watch Video Solution

23. How does HBr react with 1- butene?

Watch Video Solution

24. Out of ethyne and ethene, which is more acidic in nature?

Watch Video Solution

https://dl.doubtnut.com/l/_U6TlKG35Vm4g
https://dl.doubtnut.com/l/_03JpKeKu6bqL
https://dl.doubtnut.com/l/_H2dGtu7TvpUH
https://dl.doubtnut.com/l/_zgMjtySWgKay
https://dl.doubtnut.com/l/_kuQUKk8bQusZ
https://dl.doubtnut.com/l/_0CKeKdtpllnW


25. Name the metal which is the constituent of Grignard reagent.

Watch Video Solution

26. What is Wurtz reaction? Give example.

Watch Video Solution

27. Give the chemical test to distinguish between 2-butyne and 1-butyne.

Watch Video Solution

28. How will you convert acetylene to but-1-ene?

Watch Video Solution

29. What is peroxide effect in electrophilic addition of alkenes ?

https://dl.doubtnut.com/l/_0CKeKdtpllnW
https://dl.doubtnut.com/l/_7GcnqfeAciZt
https://dl.doubtnut.com/l/_lher9c9XeSIL
https://dl.doubtnut.com/l/_E8EAr0wrO2HL
https://dl.doubtnut.com/l/_jcRtaanLBgYg


Revision Exercises Short Answer Questions Carrying 2 Or 3 Marks

Watch Video Solution

30. Why do alkenes undergo electrophilic addition reactions ?

Watch Video Solution

31. How is isopropyl benzene prepared from Grignard reagent?

Watch Video Solution

32. Benzene reacts with fuming sulphuric acid to give

Watch Video Solution

https://dl.doubtnut.com/l/_jcRtaanLBgYg
https://dl.doubtnut.com/l/_Nkg58296zxnA
https://dl.doubtnut.com/l/_X6BgIdqLi69B
https://dl.doubtnut.com/l/_tVoyupzc6VHG


1. How do you account for the formation of ethane during chlorination of

methane ?

Watch Video Solution

2. Account for the order of acidity: 

Watch Video Solution

Acetylene > Benzene > Hexane

3. Why does benzene undergo electrophilic substitution reactions easily

and nucleophilic substitutions with difficulty?

Watch Video Solution

4. How will you explain that there exists two varieties of 1,2-

dichloroethene while there is only one variety of 1,2-dichloroethane ?

https://dl.doubtnut.com/l/_SiTXhUVcqOJE
https://dl.doubtnut.com/l/_FxaYLtPFdhKr
https://dl.doubtnut.com/l/_qOW2c2WhDBCq
https://dl.doubtnut.com/l/_QB1DTW87grjP


Watch Video Solution

5. Explain the stability of alkenes.

Watch Video Solution

6. Why do alkenes show geometrical isomerism ?

Watch Video Solution

7. What happens when 

(i) ethyl alcohol is heated in the presence of  at 443 K? 

(ii) ethyl bromide is heated with alcoholic KOH?

Watch Video Solution

H2SO4

8. How will you detect the presence of double bond in a hydrocarbon?

W h Vid S l i

https://dl.doubtnut.com/l/_QB1DTW87grjP
https://dl.doubtnut.com/l/_4IWp7sb2468t
https://dl.doubtnut.com/l/_yBEr8ilIl3JF
https://dl.doubtnut.com/l/_D4eaA6pxqIzj
https://dl.doubtnut.com/l/_qysCk9O4VNaw


Watch Video Solution

9. What are substitution reactions? Give two examples of substitution

reactions of benzene.

Watch Video Solution

10. Which of the following polymerises most readily and why? 

(i) Acetylene (ii) Ethene 

(iii) Buta-1,3-diene.

Watch Video Solution

11. Addition of HBr to propene yields 2-bromopropane, while in the

presence of benzoyl peroxide, the same reaction yields 1-bromopropane.

Explain and give mechanism.

Watch Video Solution

https://dl.doubtnut.com/l/_qysCk9O4VNaw
https://dl.doubtnut.com/l/_dO1Pl40ZWt9o
https://dl.doubtnut.com/l/_EmM3lkk10okA
https://dl.doubtnut.com/l/_rGfAt40PbgNt


12. How does ethylene react with : 

(i) bromine 

(ii) alkaline potassium permanganate 

(iii) ozone (iv) hydrogen?

Watch Video Solution

13. How does acetylene react with : 

(i) oxygen 

(ii) bromine 

(iii) ozone 

(iv) water 

(v) HBr.

Watch Video Solution

14. How will you convert benzene into: 

(i) bromobenzene (ii) berzone sulphonic acid 

https://dl.doubtnut.com/l/_rfeQssDTfWp1
https://dl.doubtnut.com/l/_7nY8o32alQXZ
https://dl.doubtnut.com/l/_s6n8N3HtmEbd


(iii) acetophenone (iu) toluene

Watch Video Solution

15. Explain the mechanism of electrophilic addition reactions of alkenes.

Watch Video Solution

16. Explain the mechanism of nitration of benzene.

Watch Video Solution

17. Complete the reactions : 

(i)  

(ii)  


(iii)  


(iv)  


(v) 

CH3 − C ≡ CH + H2

Pd ,BaSO4

−−−−−−→
quinoline

CaC2 + H2O →

CH3CH = CHCH3

O3
−−−−→
Zn ,H2O

HC ≡ CH
Alk.KMnO4

−−−−−−→

CH3C ≡ CH
hot.KMnO4

−−−−−−→

https://dl.doubtnut.com/l/_s6n8N3HtmEbd
https://dl.doubtnut.com/l/_iar9zSxiRO8S
https://dl.doubtnut.com/l/_AC02zbmwK3Qp
https://dl.doubtnut.com/l/_AGbEQAtz4R5q


Watch Video Solution

18. Give the main products of the reactions : 

(a)  

(b)  

(c)  

(d)  

(e) 

Watch Video Solution

C6H6

HNO3

−−−→
H2SO4

C6H5CH3

CrO2Cl2
−−−−→

C6H5CH2CH2CH3

Alk.KMNO4

−−−−−−−→

C6H6 + Cl2
sunlight
−−−−→

C6H6 + CH3COOCl
Anhyd.AlCl3
−−−−−−−→

19. How will you convert: 

(a) acetylene to acetaldehyde 

(b) ethylene to acetylene 

(c) isopropylbromide to n-propylbromide 

(d) acetic acid to methane ?

Watch Video Solution

https://dl.doubtnut.com/l/_AGbEQAtz4R5q
https://dl.doubtnut.com/l/_ZhHMMVo8eGoc
https://dl.doubtnut.com/l/_qNMQpPCZFPPH


20. Write brief notes on: 

(i) Markovnikov's rule (ii) Peroxide effect.

Watch Video Solution

21. Which out of ethylene or propylene is more reactive to the addition of

HBr ? Explain.

Watch Video Solution

22. Explain the terms substitution and addition reactions ? Methane gives

substitution reaction while ethylene gives addition reaction. Justify the

statement giving two examples in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_GDCSHD6Zk2l9
https://dl.doubtnut.com/l/_vsB5ZRPGJ2b5
https://dl.doubtnut.com/l/_zxGqsLyoak1j


23. Why do alkenes undergo electrophilic addition reactions ? Explain the

mechanism of HBr to ethylene.

Watch Video Solution

24. How do you account for acidic nature of alkynes as compared to

alkenes ? Give two reactions in which acetylene behaves as an acid.

Watch Video Solution

25. Discuss the general mechanism of the electrophilic substitution in

benzene. What is the role played by the catalyst?

Watch Video Solution

26. Discuss the structure of benzene in terms of resonance and orbital

concept.

https://dl.doubtnut.com/l/_iCfDm3ua37Lh
https://dl.doubtnut.com/l/_vUkJm5RFpBpC
https://dl.doubtnut.com/l/_Lb90Nq5sLCZi
https://dl.doubtnut.com/l/_LCdsjovYj6lW


Watch Video Solution

27. Why does benzene undergo electrophilic substitution reaction instead

of electrophilic addition reaction ? Discuss the mechanism of chlorination

of benzene,

Watch Video Solution

28. How will you convert benzene into acetophenone ? Discuss the

mechanism of the reaction.

Watch Video Solution

29. How is benzene converted into nitrobenzene ? Discuss the mechanism

of this reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_LCdsjovYj6lW
https://dl.doubtnut.com/l/_2WHzfZpHpB0Y
https://dl.doubtnut.com/l/_qj7JjXyR5X3J
https://dl.doubtnut.com/l/_fYvtWGL5E97m
https://dl.doubtnut.com/l/_XIJ50houNyOW


30. Explain the directive influence of substituents on benzene and their

effect on reactivity,

Watch Video Solution

31. Explain the term polymerisation with two examples.

Watch Video Solution

32. Explain the following: 

(i) Alkynes are acidic in nature. 

(ii) Alkenes show geometrical isomerism.

Watch Video Solution

33. Give four important reactions of benzene and explain the mechanism

of any one of these reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_XIJ50houNyOW
https://dl.doubtnut.com/l/_B5rLxzhMMdSP
https://dl.doubtnut.com/l/_YBDAOwRhbj7a
https://dl.doubtnut.com/l/_0fqfHZspBV9W


34. Explain the mechanism of the following reactions : (i) Sulphonation of

benzene (ii) Addition of HBr to ethene.

Watch Video Solution

35. Draw the structures of six isomeric pentenes,  Specify as E or Z

to each geometric isomer.

Watch Video Solution

C5H10

36. Write down the products of ozonolysis of 1, 2-dimethylbenzene (o-

xylene). How does the result support Kekulé structure for benzene?

Watch Video Solution

https://dl.doubtnut.com/l/_0fqfHZspBV9W
https://dl.doubtnut.com/l/_XD3WrnRgFYvF
https://dl.doubtnut.com/l/_Nf4ET2HmO5TE
https://dl.doubtnut.com/l/_Zn2otLif5BQP


37. If one mole of  is added to the following compounds, write down

the structures of the product/products expected to be formed: 

(i) Buta-1, 3-diene 

(ii) Penta-1, 3-diene 

(iii) Penta -1, 4-diene 

(iv) But-1-ene.

Watch Video Solution

HBr

38. Write structures of all the alkenes which on hydrogenation give 2-

methyl butane.

Watch Video Solution

39. Which of the following polymerises most readily and why? 

(i) Acetylene 

(ii) Ethene 

(iii) Buta-1, 3-diene

https://dl.doubtnut.com/l/_x1cYJRABWXCk
https://dl.doubtnut.com/l/_WCnAH3ej1tXq
https://dl.doubtnut.com/l/_2xsHw6vybAFs


Watch Video Solution

40. Why does benzene undergo electrophilic substitution reactions easily

and nucleophilic substitutions with difficulty?

Watch Video Solution

41. Why do alkynes undergo addition reactions while simple alkenes do

not?

Watch Video Solution

42. hy propane has only one eclipsed contirmation while butane has

three? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_2xsHw6vybAFs
https://dl.doubtnut.com/l/_AnxtSXXJhuet
https://dl.doubtnut.com/l/_z001yyB04czR
https://dl.doubtnut.com/l/_G24k54LHxWAL


Revision Exercises Long Answer Questions Carrying 5 Marks

43. Out of benzene, m–dinitrobenzene and toluene which will undergo

nitration most easily and why?

Watch Video Solution

44. Why is Wurtz reaction not preferred for the preparation of alkanes

containing odd number of carbon atoms? Illustrate your answer by taking

one example.

Watch Video Solution

1. What are conformations ? Discuss the different conformations of

ethane. How will you account for their difference in their relative stability

?

Watch Video Solution

https://dl.doubtnut.com/l/_alxJGdM3VSyD
https://dl.doubtnut.com/l/_dFrzlPicHokt
https://dl.doubtnut.com/l/_WI1niwKtK8Gq


2. Write short notes on: 

(i) Friedel Craft reaction 

(ii) Markovnikov's rule 

(iii) Wurtz reaction.

Watch Video Solution

3. What are alkenes ? Why do these show geometrical isomerism? Explain

the mechanism of electrophilic addition reactions to alkenes.

Watch Video Solution

4. Explain the structure of benzene and give its important chemical

reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_WI1niwKtK8Gq
https://dl.doubtnut.com/l/_iRaNC5yU9PLQ
https://dl.doubtnut.com/l/_zgD3JQr82cPX
https://dl.doubtnut.com/l/_8P6CgOZLYSHM


Hots Higher Order Thinking Skills

1. Explain:  is more basic than .

Watch Video Solution

CH2 = CH − HC ≡ C −

2. Why is cyclopropane more reactive than propane ?

Watch Video Solution

3. Out of but-1-yne or but-1-ene which has higher dipole moment?

Watch Video Solution

4. What alkyne would you start with and what reagents would you use to

prepare: 

(i) cis-but-2-ene (ii) trans-pent-2-ene

Vi T t S l ti

https://dl.doubtnut.com/l/_t4vHAcf7G7sL
https://dl.doubtnut.com/l/_wNWZqnw5Mjwh
https://dl.doubtnut.com/l/_8qsH68qOd2SV
https://dl.doubtnut.com/l/_8qZqhHMYTzoO


View Text Solution

5. Show steps to prepare (E) -pent-2-ene from acetylene.

View Text Solution

6. When ethene gas is passed through an aqueous solution containing

bromine and sodium chloride, three products are formed. Predict the

products.

View Text Solution

7. When 3, 3-dimethylbutan-2-ol is treated with concentrated HI, a

rearrangement occurs. Name the alkyl iodide formed showing the steps

of the reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_8qZqhHMYTzoO
https://dl.doubtnut.com/l/_23rSLyYJtm7W
https://dl.doubtnut.com/l/_z6e0ETGyPBeq
https://dl.doubtnut.com/l/_2kWHTMo4UPTi


8. Write the alkenes that give the following compounds on ozonolysis: 

(i)  


(b)

Hunderset(O)underset(||)CCH_(2)CH_(2)CH_(2)underset(O)underset(||)CCH_(2)C

CH_(3)-

underset(O)underset(||)CCH_(2)CH_(2)underset(O)underset(||)CH+Hunderset(O

View Text Solution

CH3COCH2CH3 + CH3CHO

(c)

9. An organic compound 'X' of molecular formula  , absorbs one

mole of bromine to give  Onreduction it gives 2-

methylpentane, while on oxidation yieldsa mixture of acetic acid and

isobutyric acid. Derive the structural formula of X and give its IUPAC

name.

Watch Video Solution

C6H12

C6H12Br2

https://dl.doubtnut.com/l/_wy4jTrJ9d6C3
https://dl.doubtnut.com/l/_BwZlishGy3bV


10. One mole of a hydrocarbon  reacts with  of brominne giving a

dibromo compound, . Compound  on treatment with cold

dilute alkaline potassium permanganate solution forms a compound,

. On ozonolysis,  gives equimolar quantities of propanone

and ethanal. Deduce the structural formula of 

Watch Video Solution

'A' 1mil

C5H10Br2 'A'

C5H12O2 'A'

'A'

11. What product would you get from acid catalysed hydration of 1-

methylcyclohexene? Explain.

Watch Video Solution

12. Predict the major product of the following reaction:

Watch Video Solution

C6H6 + (CH3)2CHCH2OH
H2SO4

−−−→

https://dl.doubtnut.com/l/_hrQn3zpgyIHE
https://dl.doubtnut.com/l/_7JNSq1laCl9F
https://dl.doubtnut.com/l/_vnsoqVgRaG2T
https://dl.doubtnut.com/l/_m6jGJu3EY5q2


Competition File Objective Type Questions Multiple Choice Questions With

Only One Correct Answer

13. Predict the structure of a hydrocarbon which gives one mole each of

ethanedial and butanedial on ozonolysis.

Watch Video Solution

14. Predict the product of the reaction : 

View Text Solution

15. Arrange the alkenes 2-methyl but-l-ene (I), 2-methyl but-2-ene (II) and 3-

methylbut-1-one (III) in order of decreasing reactivity towards bromine.

Watch Video Solution

https://dl.doubtnut.com/l/_m6jGJu3EY5q2
https://dl.doubtnut.com/l/_J6rsvoiUxKUw
https://dl.doubtnut.com/l/_OQVWZo2JsLIu


1. The correct IUPAC name of the following alkane is 

A. 3, 6-Diethyl-2-methyloctane

B. 3-Isopropyl-6-ethyloctane

C. 3-Ethyl-5-isopropyloctane

D. 5-Isopropyl-3-ethyloctane

Answer: A

View Text Solution

2. Which of the following has least boiling point ?

A. n-Hexane

B. n-Pentane

C. 2-Methylbutane

D. 2,2-Dimethyl propane

https://dl.doubtnut.com/l/_DhviaxYNOQiY
https://dl.doubtnut.com/l/_wNQYFMbQFkDx


Answer: D

Watch Video Solution

3. The chlorination of methane is an example of

A. elimination reaction

B. substitution reaction

C. addition reaction

D. oxidation reaction

Answer: B

Watch Video Solution

4. Arrange the halogens , in order of their increasing

reactivity with alkanes.

F2, Cl2, Br2, I2

https://dl.doubtnut.com/l/_wNQYFMbQFkDx
https://dl.doubtnut.com/l/_wQIVe5l35ew5
https://dl.doubtnut.com/l/_F1krlM1yM8SN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I2 < Br2 < Cl2 < F2

Br2 < I2 < Cl2 < F2

Br2 < Cl2 < F2 < I2

F2 < Cl2 < Br2 < I2

5. In the reaction, 

,  is

A. 

B. 

C. 

D. 

Answer: B

CH3COOH
NaOH
−−−→
Heat

X
NaOH, CaO
−−−−−−→ Y Y

CH3CHO

CH4

C2H6

CH3COCH3

https://dl.doubtnut.com/l/_F1krlM1yM8SN
https://dl.doubtnut.com/l/_HAtD17gTzVvI


Watch Video Solution

6. An aqueous solution of compound A gives ethane or electrolysis. The

compound A is :

A. Ethyl acetate

B. Sodium acetate

C. Sodium propionate

D. Sodium ethoxide.

Answer: B

View Text Solution

7. Arrange the following in decreasing order of their boiling points. 

(A). N-butane 

(B). 2-methylbutane 

https://dl.doubtnut.com/l/_HAtD17gTzVvI
https://dl.doubtnut.com/l/_x2wDLiVJJE9X
https://dl.doubtnut.com/l/_n1nrzWZRBr8j


(C). N-pentane 

(D). 2,2-dimethylpropane

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A > B > C > D

B > C > D > A

C > B > D > A

D > C > B > A

8. Isopropyl bromide undergoes wurtz reaction to form-

A. Hexane

B. Propane

C. 2, 3-Dimethylbutane

D. Neohexane

https://dl.doubtnut.com/l/_n1nrzWZRBr8j
https://dl.doubtnut.com/l/_tuW9fe3cUdyo


Answer: C

Watch Video Solution

9. Which of the following will not show geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10. The ozonolysis of  followed by treatment with

zinc and water will give

(CH3)2C = C(CH3)2

https://dl.doubtnut.com/l/_tuW9fe3cUdyo
https://dl.doubtnut.com/l/_gctm3ziBjarI
https://dl.doubtnut.com/l/_W06ZWG8Ygezb


A. acetone

B. acetaldehyde and acetone

C. acetic acid

D. formaldehyde

Answer: A

Watch Video Solution

11. Ethylene reacts with Baeyer's reagent to given

A. glycol

B. acetaldehyde

C. oxalic acid

D. ethyl alcohol.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W06ZWG8Ygezb
https://dl.doubtnut.com/l/_lIST4wOfHjd3


12. A gas on passing through ammonical solution of  does not

give any precipitate but decolourises alkaline  solution. The gas

may be:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AgNO3

KMnO4

C2H6

C2H4

C2H2

C3H8

13. The compound which forms only acetaldehyde upon ozonolysis is :

A. Ethene

B. Propene

https://dl.doubtnut.com/l/_lIST4wOfHjd3
https://dl.doubtnut.com/l/_JuD5RHCKWRpL
https://dl.doubtnut.com/l/_8mDUzYGBkJIx


C. But-1-ene

D. But-2-ene

Answer: D

Watch Video Solution

14. In the reaction : 

 the compound A is

A. Ethylene

B. Acetic acid

C. Propene

D. 1-Butene.

Answer: C

View Text Solution

A
HBr

−−→ B
alc. KOH
−−−−→ C

O3

−−−−→
Zn ,H2O

CH3CHO + CO2

https://dl.doubtnut.com/l/_8mDUzYGBkJIx
https://dl.doubtnut.com/l/_PK6HHvVsbzLr
https://dl.doubtnut.com/l/_uAHiXc671d6Q


15. When dimethyl butanol is heated with  the major

product obtained is

A. 3, 3-dimethylbut-1-ene

B. 2, 3-dimethylbut-2-ene

C. 2, 3-dimethylbut-1-ene

D. cis and trans isomers of product named under (b)

Answer: B

Watch Video Solution

3, 3 − −2 − H2SO4

16. Which of the following can exhibit geometrical isomerism

A. But-2-yrie

B. But-2-ene

C. But-1-ene

D. Butan-2-ol.

https://dl.doubtnut.com/l/_uAHiXc671d6Q
https://dl.doubtnut.com/l/_UinYUovxAdYv


Answer: B

Watch Video Solution

17. Maleic acid and fumaric acid are :

A. Chain isomers

B. Conformations

C. Geometrical isomers

D. Optical isomers

Answer: C

Watch Video Solution

18. Which of the following has the smallest heat of hydrogenation per

mole ?

https://dl.doubtnut.com/l/_UinYUovxAdYv
https://dl.doubtnut.com/l/_d3cD9VRSYSFC
https://dl.doubtnut.com/l/_hB7iocCEMAOm


A. But-1-ene

B. Trans- But-2-ene

C. Cis- But-2-ene

D. Buta-1,3-diene

Answer: D

Watch Video Solution

19. Reaction of  with propene in the presence of peroxide gives :-

A. 3-Bromopropane

B. alkyl bromide

C. n-propyl bromide

D. isopropyl bromide

Answer: C

Watch Video Solution

HBr

https://dl.doubtnut.com/l/_hB7iocCEMAOm
https://dl.doubtnut.com/l/_igYq23xSubh9


20. Oxidation of an alkene  gives a diol. Further oxidation gives a

diketone. Which one of the following could be ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(X)

X

(CH3)2C = C(CH3)2

CH3CH = C(CH3)2

(CH3)2CHCH = CH2

C6H5CH = CHC6H5

21. Acetylene is obtained by the electrolysis of

A. sodium fumarate

B. sodium succinate

C. sodium maleate

https://dl.doubtnut.com/l/_igYq23xSubh9
https://dl.doubtnut.com/l/_UonzAHAjb09V
https://dl.doubtnut.com/l/_PbwW2VYLBhhu


D. both (a) and (c)

Answer: D

Watch Video Solution

22. Arrange the following carbanions in order of their decreasing stability,

(A)  (B )  (c) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H3C − C ≡ C − H − C ≡ C − H3C − CH −
2

B > A > C

A > B > C

C > A > B

C > B > A

https://dl.doubtnut.com/l/_PbwW2VYLBhhu
https://dl.doubtnut.com/l/_ggYhdeKJ2YNM


23. Which of the following will not react with an ammoniacal silver nitrate

solution ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3C ≡ CH

(CH3)2CH − C ≡ CH

CH3C ≡ CH3

HC ≡ CH

24. In the reaction : 

,

A. 

B. 

C. 

HC ≡ CH
NaNH2
−−−−→

CH3I
−−→ Y

H2O ,Hg2 +

−−−−−−→
H +

Z

CH3CHO

CH3CH2CH = CH2

CH3COCH3

https://dl.doubtnut.com/l/_QT4Evs9JVd3E
https://dl.doubtnut.com/l/_s6bYUiP1VpXS


D. 

Answer: C

Watch Video Solution

CH3CH2CHO

25. Number of acidic hydrogen atoms in but-1-yne is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

3

4

26. The alkene which will react with  to give pyruvic acid isKMnO4

https://dl.doubtnut.com/l/_s6bYUiP1VpXS
https://dl.doubtnut.com/l/_Rjpbd79Viuvi
https://dl.doubtnut.com/l/_PsgbfOzjfY9c


A. Ethyne

B. Propyne

C. Butyne

D. Pent-2-yne

Answer: B

Watch Video Solution

27. Ethyne adds a molecule of methyl alcohol in the presence of alkali to

give

A. Acetone

B. Methyl vinyl ether

C. Acetaldehyde

D. Acetic acid

Answer: B

https://dl.doubtnut.com/l/_PsgbfOzjfY9c
https://dl.doubtnut.com/l/_Cm6jHFS8MZxX


Watch Video Solution

28. Which of the followig reagents may be used to distinguish between

but-1-yne and but-2-yne?

A. alc. KOH

B. 

C.  water

D. 

Answer: D

Watch Video Solution

alc. KMnO4

Br2

Ag+

29. , B is 

A. an acid

B. an aldehyde

C2H2

Hg (OH ) 21 %

−−−−−−−−−−→
H2SO4

A
[O ]

−−→ B :

https://dl.doubtnut.com/l/_Cm6jHFS8MZxX
https://dl.doubtnut.com/l/_UTtQYdg4JMwH
https://dl.doubtnut.com/l/_8FfxjSgajJYL


C. ketone

D. ethanol

Answer: A

Watch Video Solution

30. Products of the following reaction are 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − C
∣

CH3

= CH − CH3

KMnO4 /H −

−−−−−−−→

CH3COOH + CO2

CH3COOH + HOOCH2CH3

CH3CHO + CH3CH2CHO

CH3COOH + CH3COCH3

https://dl.doubtnut.com/l/_8FfxjSgajJYL
https://dl.doubtnut.com/l/_LWIAe5zDuQkl


31. Benzene molecule has

A.  and  bonds

B.  and  bonds

C.  and  bonds

D.  and  bonds

Answer: C

Watch Video Solution

6σ 6π

16σ 6π

12σ 3π

6σ 3π

32. Benzene reacts with acetyl chloride in the prescence of anhydrous

 to give

A. acetophenone

B. toluene

C. benzophenone

D. ethyl benzene.

AlCl3

https://dl.doubtnut.com/l/_dijsL9Icc01b
https://dl.doubtnut.com/l/_k7CBOm3eR34J


Answer: A

Watch Video Solution

33. An aromatic compound  on oxidation gives another aromatic

compound which on soda lime deccarboxylation produces benzene. The

original compound is

A. o-chlorotoluene

B. p-chlorotoluene

C. benzyl chloride

D. m-chlorotoluene

Answer: C

Watch Video Solution

C7H7Cl

https://dl.doubtnut.com/l/_k7CBOm3eR34J
https://dl.doubtnut.com/l/_LwoKI74gWrc9


34. Which of the following species is less reactive than benzene towards

ring substitution reactions ?

A. Nitrobenzene

B. Aniline

C. Bromobenzene

D. Chlorobenzene

Answer: A

Watch Video Solution

35. In benzene, each carbon atom undergoes

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  and  hybridisation

sp

sp2

sp3

sp2 sp3

https://dl.doubtnut.com/l/_kfYE1AXcROoW
https://dl.doubtnut.com/l/_eVVgeaH2KN7z


Answer: B

Watch Video Solution

36. Number of -bonds in naphthalene is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

6

3

4

5

37. In the reaction, 

 


the attacking electrophile is:

C6H6 + RCOCl
AlCl3
−−→ C6H5COR + HCl

https://dl.doubtnut.com/l/_eVVgeaH2KN7z
https://dl.doubtnut.com/l/_Tgc007xtmyCW
https://dl.doubtnut.com/l/_9EdhOz4JVwu7


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

AICI +
2

R+

RCO+

AICI4

38. Benzene reacts with  in the presence of anyhydrous  to

form

A. ethyl benzene

B. methyl benzene

C. n-propyl benzene

D. iso-propyl benzene

Answer: D

CH3Cl AlCl3

https://dl.doubtnut.com/l/_9EdhOz4JVwu7
https://dl.doubtnut.com/l/_3dRTfVYo70j3


Watch Video Solution

39. Benzene reacts with  in the presence of anhydrous 

to give

A. toluene

B. naphthalene

C. acetophenone

D. benzophenone

Answer: D

Watch Video Solution

CH3COCl AlCl3

40. The attacking reagent in electrophilic sulphonation of benzene is

A. 

B. 

SO
2 −
4

SO2 −
3

https://dl.doubtnut.com/l/_3dRTfVYo70j3
https://dl.doubtnut.com/l/_VfCfbMUqKbU1
https://dl.doubtnut.com/l/_q4pafGgcaXRt


C. 

D. 

Answer: D

Watch Video Solution

SO2

SO3

41. In Friedel Craft Reaction, anhydrous  is used. Its function is to

A. absorb 

B. absorb 

C. produce electrophile

D. produce nucleophile

Answer: C

Watch Video Solution

AlCl3

HCl

H2O

https://dl.doubtnut.com/l/_q4pafGgcaXRt
https://dl.doubtnut.com/l/_fxEPwmwYHLEz


42. The electrophile in nitration of benzene reaction is:

A. 

B. 

C. 

D. NO

Answer: C

Watch Video Solution

NO2

N2O

NO+
2

43. Benzene to acetophenone

A. Acetone in the presence of HCI

B. Acetyl chloride in the presence of 

C. Methyl chloride in the presence of 

D. Acetaldehyde in the presence of Fe

AICI3

AICI3

https://dl.doubtnut.com/l/_rEY50si7FYYN
https://dl.doubtnut.com/l/_w8DllSpgbi6A


Answer: B

Watch Video Solution

44. Which of the following is not o,p - directing group ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−Cl

−NH2

−CH3

−NO2

45. Which of the following compound obey octet rule :

A. 

https://dl.doubtnut.com/l/_w8DllSpgbi6A
https://dl.doubtnut.com/l/_XMBJm6S4F9wC
https://dl.doubtnut.com/l/_ddEkfc1ws139


Competition File Objective Type Questions Multiple Choice Questions From

Competitive Examinations Aipmt Neet Other State Boards Medical Entrance

B. 

C. 

D. 

Answer: B

Watch Video Solution

1. Which of the following is not aromatic?

A. Benzene

B. Cyclopentadienyl cation

C. Cyclopropenyl cation

D. Tropylium cation

https://dl.doubtnut.com/l/_ddEkfc1ws139
https://dl.doubtnut.com/l/_wnMOYJrsNV9R


Answer: B

Watch Video Solution

2. The most stable among the following is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3. The decreasing order of reactivity towards electrophilic substitution

reaction of the following compounds is : 

https://dl.doubtnut.com/l/_wnMOYJrsNV9R
https://dl.doubtnut.com/l/_1lXpmrTwvJaU
https://dl.doubtnut.com/l/_fLidlBYCxBS6


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1 > 2 > 4 > 2

4 > 1 > 3 > 2

4 > 1 > 2 > 3

4 > 2 > 1 > 3

4. When 2-chloro-2-methylbutane is heated with alcoholic KOH the

possible products s is are? 


 


A. a,b,c

B. a and c

C. b and c

D. a and b

/ /

(i)(CH3)2C = CHCH3              (ii)H2C = C(CH3)CH2CH3

(iii)(CH3)2CHCH = CH2

https://dl.doubtnut.com/l/_fLidlBYCxBS6
https://dl.doubtnut.com/l/_Kic9zbmQByWv


Answer: D

Watch Video Solution

5. . 


A is predominantly

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3C − CH
∣

CH3

− CH = CH2 + HBr → A

H3C − C
∣

CH3

H − CH2 − CH2Br

CH3 −

Br

∣

C
∣

CH3

− CH2 − CH3

CH3 − C
∣

Br

H − C
∣

CH3

H − CH3

CH3 − C
∣

CH3

H − C
∣

Br

H − CH3

https://dl.doubtnut.com/l/_Kic9zbmQByWv
https://dl.doubtnut.com/l/_pR7kGWKmrJ1j


6. Base strength of the following 

(i)  , (ii)  


(iii) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3CCH
−

2 H2C = CH −

HC ≡ C −

b > a > c

c > b > a

a > c > b

a > b > c

7. Which of the following is the most reactive towards electrophilic attack

?

A. 

B. 

https://dl.doubtnut.com/l/_YdzJhFNjloRD
https://dl.doubtnut.com/l/_6TLZX4kv3d2E


C. 

D. 

Answer: C

Watch Video Solution

8. Which of the following compound will exhibit cis-trans isomerism?

A. Butanol

B. But-2-enol

C. But-2-yne

D. toluene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6TLZX4kv3d2E
https://dl.doubtnut.com/l/_CTmkPybjZaHM


9. The state of hybridization of  and  of the hydrocarbon, 


 is:

A.  and sp

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

C2, C3, C5 C6

C
7
H3 −

CH3

∣

C
6 ∣

CH3

− C
5
H = C

4
H −

CH3

∣

C
3
H − C

2
≡ C

1
H

sp3, sp2, sp2

sp, sp2, sp2 sp3

sp, sp2, sp3 sp2

sp, sp3, sp2 sp3

10. The  name of the compound having the formula 

 is

A. 1-butyne-3-ene

B. but-1-yne-3-ene

IUPAC

CH ≡ C − CH = CH2

https://dl.doubtnut.com/l/_Kg0DBvNdDjai
https://dl.doubtnut.com/l/_LHh3AcdWOLtN


C. 1-buten-3-yne

D. 3-buten-1-yne

Answer: C

Watch Video Solution

11. Benzene reacts with  in the presence of anyhydrous  to

form

A. Chlorobenzene

B. Benzyl chloride

C. Xylene

D. Toluene

Answer: D

Watch Video Solution

CH3Cl AlCl3

https://dl.doubtnut.com/l/_LHh3AcdWOLtN
https://dl.doubtnut.com/l/_ILJSMEZE8A7D
https://dl.doubtnut.com/l/_Vrvog6yGIT4A


12. What is the order of reactivity of these alkenes 

CH_(2)=CH_(2)(III)` when

subject to acid - catalysed hydration?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2C = CH2(I), CH3CH = CH2(II) and

III > II > I

I > III > II

I > II > III

II > I > III

13. In the eclipsed conformation of ethane, the dihedral ungle between

the hydrogen atoms of adjacent methyl groups is

A. 

B. 

60∘

120∘

https://dl.doubtnut.com/l/_Vrvog6yGIT4A
https://dl.doubtnut.com/l/_Do4J2vHN59rW


C. 

D. 

Answer: C

Watch Video Solution

0∘

180∘

14. The raction of toluene with  in presence of  gives  and

reaction in presence of light gives  Thus  and  are .

A. X = 0- and p-chlorotoluene, 

Y = Trichloromethyl benzene

B. X = Benzyl chloride, Y = m-chlorotoluene

C. X = Benzul chloride, Y = 0-chlorotoluene

D. X= m-chlorotoluene, Y = p-chlorotoluene

Answer: A

Watch Video Solution

CI2 FeCI3 X

Y X Y

https://dl.doubtnut.com/l/_Do4J2vHN59rW
https://dl.doubtnut.com/l/_oW1i7K3kxwJ3


15. In the following the most stable conformation of -butane is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n

16. In a set of reactions, ethyl benzene yielded a product D. 

 

'D' would be:

A. 

B. 

https://dl.doubtnut.com/l/_oW1i7K3kxwJ3
https://dl.doubtnut.com/l/_YWYQYG8wKsbV
https://dl.doubtnut.com/l/_mo1iETwYpAjL


C. 

D. 

Answer: B

View Text Solution

17. Which of the following alkenes is most reactive towards electrophilic

additon reaction?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mo1iETwYpAjL
https://dl.doubtnut.com/l/_DJFsNUENaPBt
https://dl.doubtnut.com/l/_RncmLhlma6se


18. Liquid hydrocarbon can be converted to a mixture of gaswous

hydrocarbon by

A. Distillation under reduced pressure

B. Hydrolysis

C. Oxidation

D. Cracking

Answer: D

Watch Video Solution

19. When one mole of an alkene or ozonolysis produces 2 moles of

propanone, the alkene is

A. 3-methylbut-1-ene

B. 2, 3-dimethylbut-1-ene

C. 2,3-dimethylpent-2-ene

https://dl.doubtnut.com/l/_RncmLhlma6se
https://dl.doubtnut.com/l/_ojGhfGwJjLwx


D. 2,3-dimethylbut-2-ene

Answer:

Watch Video Solution

20. Which one of the following has the lowest boiling point

A. 2-methylbutane

B. 2-methyl propane

C. 2,2-dimethyl propane

D. 1-pentane

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ojGhfGwJjLwx
https://dl.doubtnut.com/l/_2k6ZVgpvUz2L


21. Reaction of hydrogen bromide with propene in the absence of

peroxide is a/an

A. free radical addition

B. nucleophilic addition

C. electrophilic substitution

D. electrophilic addition

Answer: D

Watch Video Solution

22. Which of the following compounds can yield only one

monochlorinated product upon free radical chlorination?

A. Propane

B. 2, 2-Dimethylpropane

C. 2-Methylpropane

https://dl.doubtnut.com/l/_MyDc4BVVsPy6
https://dl.doubtnut.com/l/_akZ3UAk70p9A


D. n-Butane

Answer: B

Watch Video Solution

23. Arrange the following conformations of ethane in the order of

decreasing stability

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

eclipsed > gauche > staggered

eclipsed > staggered > gauche

staggered > gauche > eclipsed

gauche > staggered > eclipsed

https://dl.doubtnut.com/l/_akZ3UAk70p9A
https://dl.doubtnut.com/l/_EInVKR0ZZM1X


24. The IUPAC name of the following compound 

A. 3-ethyl-5-methylheptane

B. 5-ethyl-3-methylheptane

C. 3,5-dicthylhexane

D. 1, 1-diethyl-3-methylpentane

Answer: A

Watch Video Solution

H3C − CH2 − C
∣

CH2CH3

H − CH2 − C
∣

CH3

H − CH2 − CH3

25. 2-Bromopentane is treated with alcoholic KOH solution. The major

product formed in this reaction and the type of reaction respectively are

A. pent-2-ene, -elimination

B. pent-l-ene, -elimination

β

β

https://dl.doubtnut.com/l/_1myhqVDqzkL0
https://dl.doubtnut.com/l/_7UelP9zzwxvY


C. pentan-2-ol, nucleophilic substitution

D. pent-1-ene, nucleophilic substitution

Answer: A

Watch Video Solution

26. In the following reaction 

 


The major product is

A. 

B. 

C. 

D. 

H3C −

CH3

∣

C
∣

CH3

− CH = CH2

H2O/H ⊕

−−−−−→ A
Major

product

B
Minor

product

H3C −

CH3

∣

C
∣

OH

− C
∣

CH3

H − CH3

C
∣

OH

H2 −

CH3

∣

C
∣

CH3

− CH2 − CH3

H3C −

CH3

∣

C
∣

CH3

− C
∣

OH

H − CH3

H3C −

CH3

∣

C
∣

CH3

− CH2 − C
∣

OH

H3

https://dl.doubtnut.com/l/_7UelP9zzwxvY
https://dl.doubtnut.com/l/_YzEEcTaDsacF


Answer: A

Watch Video Solution

27. The ozonolysis of an olefin gives only propanone. The olefin is:

A. but-1-ene

B. but-2-ene

C. 2, 3-dimethylbut-2-ene

D. propene

Answer: C

Watch Video Solution

28. The radical,  is aromatic because it has

A. 7 p-orbitals and 7 unpaired electrons

https://dl.doubtnut.com/l/_YzEEcTaDsacF
https://dl.doubtnut.com/l/_sr8KomjdvCJ7
https://dl.doubtnut.com/l/_qWLClKksSJ9Y


B. 6 p-orbitals and 7 unpaired electrons

C. 6 p-orbitals and 6 unpaired electrons

D. 7 p-orbitals and 6 unpaired electrons

Answer: C

View Text Solution

29. Some meta-directing substituents in aromatic substitution are given

which one is the most deactivating?

A. — COOH

B. 

C. 

D. 

Answer: B

Watch Video Solution

– NO2

−C ≡ N

−SO3H

https://dl.doubtnut.com/l/_qWLClKksSJ9Y
https://dl.doubtnut.com/l/_u5v2xtsqHYgx


30. Arrange the following molecules in the correct order of decreasing C-

C bond length: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H6, C2H4, C2H2, C6H6

C2H6 > C6H6 > C2H4 > C2H2

C2H6 > C2H4 > C6H6 > C2H2

C2H4 > C2H2 > C2H6 > C6H6

C2H2 > C6H6 > C2H4 > C2H6

31. Which of the following organic compounds has same hybridization as

its combustion product ?

A. Ethane

(CO2)

https://dl.doubtnut.com/l/_u5v2xtsqHYgx
https://dl.doubtnut.com/l/_FU8OOhzrz4kH
https://dl.doubtnut.com/l/_8K1hVMKFrvP7


B. Ethyne

C. Ethene

D. Ethanol

Answer: B

Watch Video Solution

32. Which one of the following is an aromatic compound?

A. Cyclopentadienyl cation

B. Cycloheptatrienyl cation

C. Cycloheptatrienyl anion

D. Cycloheptatriene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8K1hVMKFrvP7
https://dl.doubtnut.com/l/_46aumRsrAyYR
https://dl.doubtnut.com/l/_L4gVcFeukWLD


33. n-Hexane on heating to 773 K at 10-20 atmospheric pressure in the

presence of oxides of vanadium supported over alumina, yields

A. 1-hexene

B. 2-hexene

C. benzene

D. 2-methylpentane

Answer: C

Watch Video Solution

34. Which one of the following is not an isomer of 3-methylbut-1-yne?

A. Pent-1 yne

B. Buta-1, 3-diene

C. Pent-2-yne

D. Penta-1, 3-diene

https://dl.doubtnut.com/l/_L4gVcFeukWLD
https://dl.doubtnut.com/l/_DfdMn4ytBapT


Answer: B

Watch Video Solution

35. Upon ozonolysis, molecule of a hydrcarbon produces of ethanal and

one molecule of ethane dial. Identify the hydrocarbon.

A. 1, 3-hexadiene

B. 1, 4 cyclohexadiene

C. 1, 4-hexadiene

D. 2, 4 hexadiene

Answer: D

Watch Video Solution

36. Dimethyl butene can be prepared by heating which of the

following compounds with a strong acid ?

2, 3 − −2 −

https://dl.doubtnut.com/l/_DfdMn4ytBapT
https://dl.doubtnut.com/l/_7gZvGfABjOdg
https://dl.doubtnut.com/l/_t61JB5YiPZs3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)2C = CH − CH2 − CH3

(CH3)2CH − CH2 − CH = CH2

(CH3)2CH − C
∣

CH3

H = CH2

(CH3)2C − CH = CH2

37. In the reaction with HCl, an alkene reacts in accordance with

Markownikoff's rule to give a product 1-chloro-1-methylcyclohexane. The

possible alkene is:

A. 

B. 

C. (A) and (B)

D. 

https://dl.doubtnut.com/l/_t61JB5YiPZs3
https://dl.doubtnut.com/l/_kgjBSten4QZv


Answer: C

Watch Video Solution

38. The oxidation of benzene by  in the presence of aire produces

A. benzoic acid

B. benzaldehyde

C. benzoic anhydride

D. maleic anhydride

Answer: D

Watch Video Solution

V2O5

39. The total number of -bond electrons in the following structure is 
π

https://dl.doubtnut.com/l/_kgjBSten4QZv
https://dl.doubtnut.com/l/_qAFouSdAvtD5
https://dl.doubtnut.com/l/_Hc6ClSKuMOnu


A. 12

B. 16

C. 4

D. 8

Answer: D

View Text Solution

40. Given: 

 

The enthalpy of hydrogenation of these compounds will be in the order

as

A. 

B. 

C. 

D. 

II > III > I

II > I > III

I > II > III

III > II > I

https://dl.doubtnut.com/l/_Hc6ClSKuMOnu
https://dl.doubtnut.com/l/_4pSEB9ZfxZpg


Answer: D

View Text Solution

41. The correct statement regarding the comparison of staggered and

eclipsed conformations of ethane, is

A. the eclipsed conformation of ethane is more stable than staggered

conformation even though the eclipsed conformation has torsional

strain

B. the staggered conformation of ethane is more stable than eclipsed

conformation, because staggered conformation has no torsional

strain

C. the staggered conformation of ethane is less stable than eclipsed

conformation, because stuggered conformation has torsional strain

D. the eclipsed conformation of ethane is more stable than staggered

conformation, because eclipsed conformation has no torsional

https://dl.doubtnut.com/l/_4pSEB9ZfxZpg
https://dl.doubtnut.com/l/_BwkEi01Ao6aZ


strain,

Answer: B

Watch Video Solution

42. Consider the nitration of benzene using mixed conc.  and 

. If a large amount of  is added to the mixture, the rate of

nitration will be 

A. unchanged

B. doubled

C. faster

D. slower

Answer: D

Watch Video Solution

H2SO4

HNO3 KHSO4

:

https://dl.doubtnut.com/l/_BwkEi01Ao6aZ
https://dl.doubtnut.com/l/_M1UFnMHs6Osw
https://dl.doubtnut.com/l/_dTwGQbIB9qnD


43. In the reaction 

A. X = but 2-ync, Y = hex-2-yne

B. X = but-1-yne, Y = hex-2-yne

C. X = but-1-yne, Y = hex-3-yne

D. X = but-2-yne, Y = hex 3-yne.

Answer: C

View Text Solution

H − C ≡ CH
( i )NaNH2 / liq .NH3

−−−−−−−−−−−−→
( ii )CH3CH2Br

X
( i )NaNH2 / liq .NH3

−−−−−−−−−−−−→
( ii )CH3CH2Br

Y

44. The compound that will react most readily with gaseous bromine has

the formula

A. 

B. 

C. 

C3H6

C2H2

C4H10

https://dl.doubtnut.com/l/_dTwGQbIB9qnD
https://dl.doubtnut.com/l/_SOsnwmUA8804


D. 

Answer: A

Watch Video Solution

C2H4

45. Which of the following can be used as the halide component for

Freidel-Crafts reaction-

A. Chlorobenzene

B. Bromobenzene

C. Chloroethene

D. Isopropyl chloride

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SOsnwmUA8804
https://dl.doubtnut.com/l/_9VRzqMgTyCEL


46. Which one is the correct order of acidity ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH ≡ CH > CH3 − C ≡ CH > CH2 = CH2 > CH3 − CH3

CH ≡ CH > CH2 = CH2 > CH3 − C ≡ CH > CH3 − CH3

CH3 − CH3 > CH2 = CH2 > CH3 − C ≡ CH > CH ≡ CH

CH2 = CH2 > CH3 − CH3 > CH3 − C ≡ CH > CH ≡ CH

47. With respect to the conformers of ethane, which of the following

statements is true ?

A. Bond angle changes but bond length remains same.

B. Both bond angle and bond length change.

C. Both bond angle and bond length remain same.

D. Bond angle remains same but bond length changes.

https://dl.doubtnut.com/l/_v0Jk7RT34HXv
https://dl.doubtnut.com/l/_SRRqCAGq4OGV


Answer: C

Watch Video Solution

48. Predict the correct intermediate and product in the following

reaction. 

 


A. A:  B: 

B. A:  B: 

C. A:  B: 

D. A:  B: 

Answer: D

Watch Video Solution

H3C − C ≡ CH
H2O ,H2SO4

−−−−−−→
HgSO4

Intermediate
(A )

→ Product
(B )

H3C C
∣

SO4

= CH2 H3C − C
∣ ∣

O

− CH3

H3C − C
∣

OH

= CH2 H3C − C
∣

SO4

= CH2

H3C − C
∣ ∣

O

= CH3 H3C − C ≡ CH

H3C − C
∣

OH

= CH2 H3C − C
∣ ∣

O

− CH3

https://dl.doubtnut.com/l/_SRRqCAGq4OGV
https://dl.doubtnut.com/l/_bhNZ7yraqKHh
https://dl.doubtnut.com/l/_qRyFXRS7YPfc


49. Which of the following molecules represents the order of

hybridisation  from left to right atoms ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp2, sp2, sp, sp

HC ≡ C − C ≡ CH

CH2 = CH − C ≡ CH

CH2 = CH − CH = CH2

CH3 − CH = CH − CH3

50. The most suitable reagent for the following conversion is 

A. 

B. 

C. , quinoline

Hg2 + /H + , H2O

Na/liquidNH3

H2, Pd/C

https://dl.doubtnut.com/l/_qRyFXRS7YPfc
https://dl.doubtnut.com/l/_VmXKeImlJbb3


Competition File Objective Type Questions Multiple Choice Questions From

Competitive Examinations Jee Main And Other State Boards Engineering

Entrance

D. 

Answer: C

View Text Solution

Zn/HCl

1. Trans - 2 phenyl 1 - bromocyclopenta ne on reaction with alcoholic KOH

produces

A. 2-phenylcyclopentene

B. 1-phenylcyclopentene

C. 3-phenylcyclopentene

D. 4-phenylcyclopentene

Answer: C

https://dl.doubtnut.com/l/_VmXKeImlJbb3
https://dl.doubtnut.com/l/_34mHAVcMaPol


Watch Video Solution

2. The compound formed as a result of oxidation of ethyl benzene by

 is :

A. acetophenone

B. benzoic acid

C. benzyl alcohol

D. benzophenone.

Answer: B

Watch Video Solution

KMnO4

3. Which of the following reactions will yield dibromopropane ?

A. 

B. 

2, 2 −

CH3CH = CHBr + HBr →

CH ≡ CH + 2HBr →

https://dl.doubtnut.com/l/_34mHAVcMaPol
https://dl.doubtnut.com/l/_Nh03Zdaxzh2R
https://dl.doubtnut.com/l/_rdpH22K9bLlh


C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH = CH2 + HBr →

CH3 − C ≡ CH + 2HBr

4. Presence of a nitro group in a benzene ring:

A. renders the ring basic

B. deactivates the ring towards nucleophilic substitution.

C. deactivates the ring towards electrophilic substitution

D. activates the ring towards electrophilic substitution

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rdpH22K9bLlh
https://dl.doubtnut.com/l/_n3wFUIY4MuyT


5. An organic compound with molecular formula  upon ozonolysis

gives only acetone as the product. The compound is :

A. 2,3-dimethylbut-1-ene

B. hex-3-ene

C. hex-2-ene

D. 2,3-dimethylbut-2-ene

Answer: A

Watch Video Solution

C6H12

6. The electrophile,  attacks the benzene ring to generate the

intermediate -complex. Of the following, which -complex is of lowest

energy ?

A. 

B. 

E ⊕

σ σ

https://dl.doubtnut.com/l/_1c98zgGQbLkG
https://dl.doubtnut.com/l/_92O6AC98TcMP


C. 

D. 

Answer: C

Watch Video Solution

7. The hydrocarbon which can react with sodium in liquid ammonia is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2C ≡ CH2CH3

CH3CH2CH2C ≡ CH2CH2CH3

CH3CH2C ≡ CH

CH3CH ≡ CHCH3

https://dl.doubtnut.com/l/_92O6AC98TcMP
https://dl.doubtnut.com/l/_J10xhKgDFFxs


8. The treatment of  with  produces

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3MgX CH3 − C ≡ C − H

CH4

CH3 − CH = CH2

CH3C ≡ C − CH3

CH3 − CH = CH − CH3

9. In which of the following species, all the three types of hybrid carbons

are present ?

A. 

B. 

C. 

D. 

CH2 = C = CH2

CH3 − CH = CH − CH2

CH3 − C ≡ C − CH +
2

CH3 − HC = CH − CH2

https://dl.doubtnut.com/l/_JIB5cgNcv8Sb
https://dl.doubtnut.com/l/_6YDjDO2dK9xm


Answer: C

Watch Video Solution

10. aqueous solution of sodium succinate are electrolysed using Pt-

electrodes.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH3

CH2 = CH2

CH ≡ CH

CO2

11. The Z-isomers among the following are:

https://dl.doubtnut.com/l/_6YDjDO2dK9xm
https://dl.doubtnut.com/l/_WpPKoF6utHXT
https://dl.doubtnut.com/l/_w3twWxg9x7yJ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

12. When 3-phenylpropene reacts with HBr in the presence of peroxide,

the major product formula is:

A. 2-bromo-l-phenylpropane

B. 1, 2-dibromo-3-phenylpropane

C. 3-(0-bromophenyl) propene

D. l-bromo-3-phenylpropane

Answer: D

https://dl.doubtnut.com/l/_w3twWxg9x7yJ
https://dl.doubtnut.com/l/_zHBrBz7T21kj


Watch Video Solution

13. Ozonolysis of an organic compound gives formaldehyde as one of the

products. This confirms the presence of

A. two ethylenic double bonds

B. a vinyl group

C. an isopropyl group

D. an acetylenic triple bond

Answer: B

Watch Video Solution

14. The non aromatic compound among the following is -

A. 

B. 

https://dl.doubtnut.com/l/_zHBrBz7T21kj
https://dl.doubtnut.com/l/_Ii2zZyX8LOlN
https://dl.doubtnut.com/l/_LhRPlCutnH3Q


C. 

D. 

Answer: D

Watch Video Solution

15. The IUPAC name of 

A. 4-Hydroxypentan-2-one

B. 2-Hydroxypentan-4-one

C. 2-Oxopentan-4-ol

D. 4-Ketopentan-2-ol

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_LhRPlCutnH3Q
https://dl.doubtnut.com/l/_JJSsZzwYuXdq


16. The number of sigma  and pi  bonds present in 1,3,5,7-

octatetraene respectively are:

A. 14 and 3

B. 17 and 4

C. 16 and 5

D. 15 and 4

Answer: B

Watch Video Solution

(σ) (π)

17. When HBr adds on hex-1-ene in the presence of benzoyl peroxide, the

product is

A. 2-bromohexane

B. 2, 3-dibromohexane

C. 1,2-dibromohexane

https://dl.doubtnut.com/l/_wyoIBE1LUaRV
https://dl.doubtnut.com/l/_Epe2kXFLxJdj


D. 1-bromohexane

Answer: D

Watch Video Solution

18. Hexyne gives trans  hexene on treatment with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 − −2 − :

Li/NH3

Pd/BaSO4

LiAIH4

Pt/H2

https://dl.doubtnut.com/l/_Epe2kXFLxJdj
https://dl.doubtnut.com/l/_wBbjduIrldxb


19. An optically active compound having molecular formula  on

ozonolysis gives acetonic as one of the products. The structure of the

compound is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C8H16

20. The correct order of decreasing H-C-H bond angle in the following

molecule is 

A. I > II > III

https://dl.doubtnut.com/l/_jO3sTdk8654Q
https://dl.doubtnut.com/l/_Us9DyokLY10B


B. 

C. 

D. 

Answer: B

View Text Solution

II > I > III

III > II > I

I > III > II

21.  


What is B in the above reaction?

A. Benzyl chloride

B. Benzal chloride

C. Hexachlorobenzene

D. Benzene hexachloride

Answer: A

View Text Solution

n − C7H16

V2O5 , 500 ∘C
−−−−−−→
10 − 20atm.

A
Cl2 ,hv
−−−→ B

https://dl.doubtnut.com/l/_Us9DyokLY10B
https://dl.doubtnut.com/l/_or6dpRzKAX8m


22. The products obtained by the ozonolysis of 2-ethyl but-1-ene are:

A. propanone and ethanal

B. ethanal and pentan-3-one

C. butanal and ethanal

D. methanal and pentan-3-one.

Answer: D

Watch Video Solution

23. When but-2-yne is treated with Na in liquid ammonia:

A. cis-2-butene is obtained

B. trans-2-butene is formed

C. n-butane is the major product

D. it rearranges to but-1-yne

https://dl.doubtnut.com/l/_or6dpRzKAX8m
https://dl.doubtnut.com/l/_IJn9RWMt6Tly
https://dl.doubtnut.com/l/_T1FOREApuRdA


Answer: B

Watch Video Solution

24.  

The major product of the above reaction is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

25. Which of the following compounds will exhibit geometrical

isomerism?

https://dl.doubtnut.com/l/_T1FOREApuRdA
https://dl.doubtnut.com/l/_wq61ud7Q7EvQ
https://dl.doubtnut.com/l/_WdfspI7RmApK


A. 2-Phenyl-1-butene

B. 1, 1-Diphenyl-1-propane

C. 1-Phenyl-2-butene

D. 3-Phenyl-1-butane

Answer: C

Watch Video Solution

26. Which compund will yield 5-keto -2 methyl hexanal upon treatment

with ?

A. 

B. 

C. 

D. 

Answer: D

O3

https://dl.doubtnut.com/l/_WdfspI7RmApK
https://dl.doubtnut.com/l/_zUNDetNcYC6T


Watch Video Solution

27. The major products obtained on ozonolysis of 2,3-dimethyl-1-butene

followed by reduction with Zn and  are-

A. methanoic acid and 2-methylbutan-3-one

B. methanal and 3-methylbutan-2-one

C. methanol and 2, 3-dimethylbutan-3-one

D. methanoic acid and 2-methylbutan-3-one.

Answer: B

Watch Video Solution

H2O

28. Predict the product (B) in the following sequence of reactions: 

A. Benzaldehyde

Ethylbenzene
KMnO4 −KOH
−−−−−−−−−→ A

H3O
+

−−−→ B

https://dl.doubtnut.com/l/_zUNDetNcYC6T
https://dl.doubtnut.com/l/_Erd8C7ON3VFK
https://dl.doubtnut.com/l/_29azHqDnancE


B. Benzophenone

C. Benzene

D. Benzoic acid

Answer: D

Watch Video Solution

29. The reaction of propene with  proceeds through

the intermediate:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOCI(CI2 + H2O)

CH3 − CH + − CH2 − OH

CH3 − CH + − CH2 − Cl

CH3 − CH(OH) − CH +
2

CH3 − CH(Cl) + CH +
2

https://dl.doubtnut.com/l/_29azHqDnancE
https://dl.doubtnut.com/l/_06qErH9JUXH1


30. The isomerism of 2-butyne to 1-butyne can be achieved by treatment

with:

A. hydrochloric acid

B. ammoniacal silver nitrate

C. ammoniacal cuprous chloride

D. ethanolic potassium hydroxide

Answer: D

Watch Video Solution

31. The reaction of propene with HBr in presence of peroxide proceeds

through the intermediate:

A. 

B. 

H3C −
⋅
CH − CH3

H3C −
⋅
CH − CH2Br

https://dl.doubtnut.com/l/_06qErH9JUXH1
https://dl.doubtnut.com/l/_esNtQ7VI8Gms
https://dl.doubtnut.com/l/_KyVHTbA3YcgA


C. 

D. 

Answer: B

Watch Video Solution

H3C −

Br

∣

CH −
⋅
CH2

H3C − CH2 − CH2

32. Which of the following molecules is least resonance stabilized ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KyVHTbA3YcgA
https://dl.doubtnut.com/l/_Vtmy7MTpbNsD


33. The trans-alkenes are formed by the reduction of alkynes with

A. 

B. 

C. 

D. Sn-HCI

Answer: C

Watch Video Solution

H2 − Pd/C, BaSO4

NaBH4

Na/liq. NH3

34. What final product will form when alcoholic KOH is treated with 1, 1-

dichloroethane?

A. Ethane-1,2-diol

B. Ethene

C. Ethyne

D. Acetaldehyde

https://dl.doubtnut.com/l/_vGkXTa4ucf0F
https://dl.doubtnut.com/l/_4yGcxNAnHrWL


Answer: C

Watch Video Solution

35. The reagent X' used for the following reaction is 

A. Ni

B. 

C. 

D. 

Answer: B

View Text Solution

Pd/C

LAIH4

Na/liquidNH3

36. Number of possible constitutional isomers of alkane with formula

 isC6H14

https://dl.doubtnut.com/l/_4yGcxNAnHrWL
https://dl.doubtnut.com/l/_gZtzoUEuiMD2
https://dl.doubtnut.com/l/_B4RjuruQXEsS


A. 3

B. 2

C. 5

D. 10

Answer: C

Watch Video Solution

37. Phenylacetylene on treatment with  produces

A. acetophenone

B. phenylacetaldehyde

C. phenylacetic acid

D. 1-phenylethanol

Answer: A

Watch Video Solution

HgSO4 /H2SO4, H2O

https://dl.doubtnut.com/l/_B4RjuruQXEsS
https://dl.doubtnut.com/l/_hWyO6VgzdAV5


38.  can be prepared by the reaction of

A.  with 

B.  with 

C. with KBr and Mg metal

D.  with 

Answer: D

View Text Solution

CH3 − C ≡ CMgBr

CH3 − C ≡ C— Br MgBr2

CH3 − C ≡ CH MgBr2

CH3 − C ≡ CH

CH3 − C ≡ CH CH3MgBr

39. The major product of the following reaction is : 

A. 

B. 

CH3CH2C
∣

Br

H − C
∣

Br

H2

I .KOHalc .
−−−−−−−−−−−−→
II .NaNH2in liq.NH3

CH3CH2 ≡ CH

CH3CH2 C
∣

NH2

− C
∣

NH2

H2

https://dl.doubtnut.com/l/_hWyO6VgzdAV5
https://dl.doubtnut.com/l/_XrGloIftEPVM
https://dl.doubtnut.com/l/_WAYrtGQgba90


C. 

D. 

Answer: A

Watch Video Solution

CH3CH = C = CH2

CH3CH = CHCH2NH3

40. The most stable conformation of cyclohexane is :

A. Boat conformation

B. Chair conformation

C. Skew conformation

D. Gauche conformation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WAYrtGQgba90
https://dl.doubtnut.com/l/_h8j4t7yV26w9


41. Reaction of sodium acetate with soda lime will produce which of the

following?

A. Ethane

B. Methane

C. Propane

D. Butane

Answer: B

Watch Video Solution

42. The compound which does not lead to benzoic acid by oxidation with

 is

A. toluene

B. benzyl alcohol

C. n-butylbenzene

KMnO4

https://dl.doubtnut.com/l/_y4TKHzCyoW6K
https://dl.doubtnut.com/l/_F5yWT2UXLJEp


D. t-butylbenzene

Answer: D

Watch Video Solution

43. Sulphonation of benzene with excess sulphuric acid provides

A. benzenesulphonic acid

B. p-benzenedisulphonic acid

C. o-benzenedisulphonic acid

D. m-benzenedisulphonic acid

Answer: D

Watch Video Solution

44. Propylene on treatment with  providesHBr/H2O2

https://dl.doubtnut.com/l/_F5yWT2UXLJEp
https://dl.doubtnut.com/l/_ZbBUbC9UnsK8
https://dl.doubtnut.com/l/_8DvB2Nr0IorT


A. 1-bromopropane

B. 2-bromopropane

C. 1,2-dibromopropane

D. 1-bromopropan-2-ol

Answer: A

Watch Video Solution

45. The alkyl halides required to prepare by  Wurtz reaction are

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_8DvB2Nr0IorT
https://dl.doubtnut.com/l/_ULGyJ39r8yDg


46. But-2-yne is reduced to trans-but-2-ene using

A. 

B. Na in liq. 

C. 

D. Zn in dil. HCI

Answer: B

Watch Video Solution

H2 /Ni

NH3

H2 /Pd − C

47. The alkane formed on heating sodium butanoate with soda lime is

A. ethane

B. propane

C. butane

https://dl.doubtnut.com/l/_ULGyJ39r8yDg
https://dl.doubtnut.com/l/_VMQCYZn05UDh
https://dl.doubtnut.com/l/_MTiX2wqyfEH8


D. methane

Answer: B

Watch Video Solution

48. But-2-ene on reaction with alkaline  at elevated temperature

followed by acidification will give :

A. one molecule of  and one molecule of 

B. 

C. 2 molecules of 

D. 2 molecules of 

Answer: C

Watch Video Solution

KMnO4

CH3CHO CH3COOH

CH3 − C
∣

OH

H − C
∣

OH

H − CH3

CH3COOH

CH3CHO

https://dl.doubtnut.com/l/_MTiX2wqyfEH8
https://dl.doubtnut.com/l/_TbX1FurcvxiW


49.  


The correct product is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = CH2

Cl2 /H2O

−−−−−→

CH3 − C
∣

Cl

H − C
∣

OH

H2

CH3 − C
∣

OH

H − C
∣

Cl

H2

50. Which of the following compound is not aromatic? 

https://dl.doubtnut.com/l/_MDb1NEVeT3GZ
https://dl.doubtnut.com/l/_0OU3idPI5eCD


Competition File Objective Type Questions Multiple Choice Questions From

Competitive Examinations Jee Advance For Iit Entrance

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.  


Which of the following is the structure of compound A?

A. 

B. 

C. 

CH3 − CH = CH2 + NoCl → (A)

CH3CHNO − CH2Cl

ON − CH2 − CH2 − CH2Cl

CH3 − CHCI − CH2NO

https://dl.doubtnut.com/l/_0OU3idPI5eCD
https://dl.doubtnut.com/l/_nccnpna8WZdi


D. 

Answer: C

Watch Video Solution

CH2CICHNO − CH2CH3

2. The reagents(s) for the following conversion : 

A. alcoholic KOH

B. alcoholic KOH followed by 

C. aqueous KOH followed by 

D. 

Answer: B

View Text Solution

NaNH2

NaNH2

Zn/CH3OH

https://dl.doubtnut.com/l/_nccnpna8WZdi
https://dl.doubtnut.com/l/_IwR7Qua39hnl


3. The synthesis of 3-octyne is achieved by adding a bromoalkane into a

mixture of sodium amide and an alklyne. The bromo alkane and alkyne

respectively are:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

BrCH2CH2CH2CH2CH2CH3 CH3C ≡ CH

BrCH2CH2CH2CH3 CH3CH2CH2C ≡ CH

BrCH2CH2CH2CH2CH2CH3 CH3C ≡ CH

BrCH2CH2CH2CH2CH3 CH3CH2C ≡ CH

4. In allene  the type(s) of hybridisation of the carbon atoms is

(are):

A. 

B. 

(C3H4)

sp and sp3

sp and sp2

https://dl.doubtnut.com/l/_WZrdwmjSMAno
https://dl.doubtnut.com/l/_Ax71N7Bn3ALn


Competition File Objective Type Questions Multiple Choice Questions With

More Than One Correct Answers

C. only 

D.  and 

Answer: B

Watch Video Solution

sp2

sp2 sp3

1. Alkanes can be obtained from carboxylic acids by

A. 

B. Decarboxylation

C. Kolbe's electrolysis

D. Clemmensen's reduction

Answer: B::C

Watch Video Solution

LiAIH4

https://dl.doubtnut.com/l/_Ax71N7Bn3ALn
https://dl.doubtnut.com/l/_BM3nA6TFQUaV


Watch Video Solution

2. Which of the folllowing on treatment with warm dil.  in the

presence of  will give butan-2-one?

A. But-1-yne

B. But-1-ene

C. But-2-yne

D. Pent-1-yne

Answer: A::C

Watch Video Solution

H2SO4

HgSO4

3. The molecule that will have dipole moment is:

A. 2,2-Dimethylpropane

B. trans-pent-2-eno

https://dl.doubtnut.com/l/_BM3nA6TFQUaV
https://dl.doubtnut.com/l/_8lT7TNPlqfnw
https://dl.doubtnut.com/l/_5nvZSCDD50Sg


C. cis hex-3-ene

D. 2,2,3,3- tetramethylbutane

Answer: B::C

Watch Video Solution

4. Toluene, when treated with  gives p-bromotoluene as the

major product, because the  group:

A. is p-directing

B. is m-directing

C. activates the ring by hyperconjugation

D. deactivates the ring

Answer: A::C

Watch Video Solution

Br2 /Fe

CH3

https://dl.doubtnut.com/l/_5nvZSCDD50Sg
https://dl.doubtnut.com/l/_ZIaMAurrYSQw
https://dl.doubtnut.com/l/_eDQR38hMS3cs


5. But-1-ene and but-2-ene can be distinguished by

A. Baeyer's reagent

B. hot alk. 

C. Reductive ozonolysis

D. Tollen's reagent

Answer: B::C

View Text Solution

KMnO4

6. Which of the following can be used in Friedel Crafts acylation reactions

?

A. 

B. 

C. 

D. 

CH3COOCH3

CH3CH2COCl

CH3CH2Cl

(CH3CO)2O

https://dl.doubtnut.com/l/_eDQR38hMS3cs
https://dl.doubtnut.com/l/_l2IllH4qXVkh


Answer: B::D

View Text Solution

7. Which of the following undergoes electrophilic substitution reactions

faster than benzene?

A. Phenol

B. Aniline

C. benzoic acid

D. Nitrobenzene

Answer: A::B

Watch Video Solution

8. Which of the following has almost zero dipole moment?

https://dl.doubtnut.com/l/_l2IllH4qXVkh
https://dl.doubtnut.com/l/_XXuTmjJsxHuE
https://dl.doubtnut.com/l/_kK637Vyy9goL


A. trans-dichloroethene

B. cis-but-2-ene

C. cis-dichloroethene

D. trans-but-2-ene

Answer: A::D

Watch Video Solution

9. Which of the following has/have aromatic character:

A. 

B. 

C. 

D. 

Answer: A::D

View Text Solution

https://dl.doubtnut.com/l/_kK637Vyy9goL
https://dl.doubtnut.com/l/_CXosor6GclS7


10. Which one of the following exhibits geometrical isomerism ?

A. 1,2-dibromopropene

B. 2, 3-dimethylbut-2-ene

C. 2, 3-dibromobut-2-ene

D. 2-methylbut-2-ene

Answer: A::C

View Text Solution

11. Which of the following molecules, in pure form, is /are ustable at room

temperature?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_CXosor6GclS7
https://dl.doubtnut.com/l/_ZZXFVkGILAxi
https://dl.doubtnut.com/l/_1uGTPea8W0dO


D. 

Answer: B::C

Watch Video Solution

12. Among the following reactions (s), which gives (give) tert-butyl

benzene as the major product?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_1uGTPea8W0dO
https://dl.doubtnut.com/l/_QXQ26lhgpR9a


Competition File Objective Type Questions Multiple Choice Questions Based

On The Given Passage Comprehension

13. Which of the following reaction produce propane as major product?

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

1. Alkenes undergo a variety of oxidation reactions. With cold and neutral

or alkaline , alkenes are oxidised to give vicinal diols. Oxidation

with hot  undergoes cleavage of C=C bond leading to the

formation of carboxylic acids, ketones and carbon dioxide depending on

KMnO4

KMnO4

https://dl.doubtnut.com/l/_aXrO34Q4HcvZ
https://dl.doubtnut.com/l/_bQmPLBcUdxVK


the nature ofalkene. Reductive ozonolysis of alkenes give aldehydes or

ketones. 

But-2-ene on treatment with cold alk.  gives

A. Butane-1, 2-diol

B. Butane-2, 3-diol

C. Ethylene glycol

D. Glyoxal

Answer: B

Watch Video Solution

KMnO4

2. Alkenes undergo a variety of oxidation reactions. With cold and neutral

or alkaline , alkenes are oxidised to give vicinal diols. Oxidation

with hot  undergoes cleavage of C=C bond leading to the

formation of carboxylic acids, ketones and carbon dioxide depending on

the nature ofalkene. Reductive ozonolysis of alkenes give aldehydes or

ketones. 

KMnO4

KMnO4

https://dl.doubtnut.com/l/_bQmPLBcUdxVK
https://dl.doubtnut.com/l/_CutZxxSro8kB


An alkene 'X' on treatment with hot alkaline  gives acetic acid.

Alkene X' is

A. Hex-3-enc

B. But-2-ene

C. But-1-ene

D. Pent-1-ene

Answer: B

Watch Video Solution

KMnO4

3. Alkenes undergo a variety of oxidation reactions. With cold and neutral

or alkaline , alkenes are oxidised to give vicinal diols. Oxidation

with hot  undergoes cleavage of C=C bond leading to the

formation of carboxylic acids, ketones and carbon dioxide depending on

the nature ofalkene. Reductive ozonolysis of alkenes give aldehydes or

ketones. 

Reductive ozonolysis of alkene 'A' gives propanone. The alkene 'A' is

KMnO4

KMnO4

https://dl.doubtnut.com/l/_CutZxxSro8kB
https://dl.doubtnut.com/l/_3jnsWS7HVVea


A. 2,3,-Dimethylbut-2-ene

B. 1,4-Dimethylpent-2-ene

C. 1,3-Dimethylbut-2-ene

D. 2-Methylpropene

Answer: A

Watch Video Solution

4. Alkenes undergo a variety of oxidation reactions. With cold and neutral

or alkaline , alkenes are oxidised to give vicinal diols. Oxidation

with hot  undergoes cleavage of C=C bond leading to the

formation of carboxylic acids, ketones and carbon dioxide depending on

the nature ofalkene. Reductive ozonolysis of alkenes give aldehydes or

ketones. 

2-Methyl propene on treatment with hot alkaline  gives

A. 

KMnO4

KMnO4

KMnO4

(CH3)2CO, HCOOH

https://dl.doubtnut.com/l/_3jnsWS7HVVea
https://dl.doubtnut.com/l/_tNjX2K2jx8zM


B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)2CO, CO2

(CH3)2CO, CH3CHO

CH3CHO, CH3CH2CHO

5. Benzene and other aromatic hydrocarbons, though contain -bonds,

yet they behave as saturated hydrocarbons. They are stable because of

delocalisation of cloud. These undergo electrophilic substitution

reactions as : 

 


The reactivity of aromatic hydrocarbons towards electrophilic

substitution depends upon the electron density in the benzene ring 

Which of the following is not compatible with arenes?

A. Greater stability

B. Delocalisation of -electrons

π

C6H5 − H + Y Z → C6H5Y + HZ

π

https://dl.doubtnut.com/l/_tNjX2K2jx8zM
https://dl.doubtnut.com/l/_cyZOHZV7nC7D


C. Electrophilic addition

D. Resonance

Answer: C

Watch Video Solution

6. Benzene and other aromatic hydrocarbons, though contain -bonds,

yet they behave as saturated hydrocarbons. They are stable because of

delocalisation of cloud. These undergo electrophilic substitution

reactions as : 

 


The reactivity of aromatic hydrocarbons towards electrophilic

substitution depends upon the electron density in the benzene ring 

In the reaction of , the major product is m-isomer. The group Y

may be

A. 

B. 

π

C6H5 − H + Y Z → C6H5Y + HZ

C6H5Y

−COOH

−CI

https://dl.doubtnut.com/l/_cyZOHZV7nC7D
https://dl.doubtnut.com/l/_n7jqC5ksyfK4


C. 

D. 

Answer: A

Watch Video Solution

−OH

−NH2

7. Benzene and other aromatic hydrocarbons, though contain -bonds,

yet they behave as saturated hydrocarbons. They are stable because of

delocalisation of cloud. These undergo electrophilic substitution

reactions as : 

 


The reactivity of aromatic hydrocarbons towards electrophilic

substitution depends upon the electron density in the benzene ring 

The electrophile in sulphonation of benzene is

A. 

B. 

C. 

π

C6H5 − H + Y Z → C6H5Y + HZ

SO+
3

HSO
−
4

SO3

https://dl.doubtnut.com/l/_n7jqC5ksyfK4
https://dl.doubtnut.com/l/_d9H1FC8uKFza


D. 

Answer: C

Watch Video Solution

H3SO
+
4

8. Benzene and other aromatic hydrocarbons, though contain -bonds,

yet they behave as saturated hydrocarbons. They are stable because of

delocalisation of cloud. These undergo electrophilic substitution

reactions as : 

 


The reactivity of aromatic hydrocarbons towards electrophilic

substitution depends upon the electron density in the benzene ring 

Which reagent cannot be used in Friedel Craft alkylation of benzene?

A. 

B. 

C. 

D. 

π

C6H5 − H + Y Z → C6H5Y + HZ

FeCl3

SnCl4

AlCl3

LiAlH4

https://dl.doubtnut.com/l/_d9H1FC8uKFza
https://dl.doubtnut.com/l/_z3IFIrSbqY6R


Answer: D

Watch Video Solution

9. Benzene and other aromatic hydrocarbons, though contain -bonds,

yet they behave as saturated hydrocarbons. They are stable because of

delocalisation of cloud. These undergo electrophilic substitution

reactions as : 

 


The reactivity of aromatic hydrocarbons towards electrophilic

substitution depends upon the electron density in the benzene ring 

Nitration of benzene undergoes in the presence of

A. HCl

B. 

C. 

D. HONO

π

C6H5 − H + Y Z → C6H5Y + HZ

H2SO4

NO+
2

https://dl.doubtnut.com/l/_z3IFIrSbqY6R
https://dl.doubtnut.com/l/_cLNClhPlxyKn


Competition File Objective Type Questions Integer Type Questions

Answer: B

Watch Video Solution

1. The number of molecules having zero dipole moment is trans-but-2-ene,

cis-pent-2-ene, cis-but-2-ene, propene, trans-1,2-dichloroethene, but-2-yne,

cis-1,2-dichloroethene

Watch Video Solution

2. How many number of cis-trans isomer with molecular formula

 are?

Watch Video Solution

C2BrClFI

https://dl.doubtnut.com/l/_cLNClhPlxyKn
https://dl.doubtnut.com/l/_vrzBfUQ2mTph
https://dl.doubtnut.com/l/_5mOJhsivhvMx


Unit Practice Test

3. How many of the following on reductive ozonolysis will give ethanal as

one of the products? 

2-Methylbut-2-ene, 2-methylpropene, but-2-ene, propene, ethene, pent-2-

ene, pent-3-ene, hex-3-ene

Watch Video Solution

4. The number of tertiary hydrogens in 2, 3-dimethylbutane is

Watch Video Solution

1. But-2-yne is reduced to trans-but-2-ene using

A. Zn in dil.HCI

B. H2, Ni

https://dl.doubtnut.com/l/_nuRfoYoZ0gHa
https://dl.doubtnut.com/l/_K2zWitzFpGhQ
https://dl.doubtnut.com/l/_XkvVqVDU9ef9


C. 

D. Na in liq. 

Answer: D

Watch Video Solution

H2 ∣ Pd − BaSO4

NH3

2. Which of the following compound can give only one monochlorinated

product upon free radical chlorination?

A. 2-Methylpropane

B. n-Butane

C. 2, 2-Dimethylpropane

D. 2, 3 dimethylpentane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XkvVqVDU9ef9
https://dl.doubtnut.com/l/_4uXRPIvqqxR2
https://dl.doubtnut.com/l/_wptIyZYSI549


3. The compound formed on oxidation of ethyl benzene is

A. acetophenone

B. benzoic acid

C. benzophenone

D. benzyl alcohol

Answer: B

Watch Video Solution

4. When HBr is added to hex-1-ene in the presence of benzoyl peroxide,

the product is

A. 1-bromohexane

B. 2-bromohexane

C. 2,3-dibromohexane

D. 3-bromohexane

https://dl.doubtnut.com/l/_wptIyZYSI549
https://dl.doubtnut.com/l/_10aM75qI8uzy


Answer: A

Watch Video Solution

5. The products obtained by ozonolysis of 2-ethylbut-l-ene are

A. ethanal and pentan-3-one

B. methanal and pentan-3-one

C. propanone and propanal

D. methanal and pentan-2-one

Answer: B

Watch Video Solution

6. Assertion: Terminal alkynes on oxidation with acidic  at high

temperature give  and carboxylic acids. 

Reason: Terminal alkynes are acidic in nature

KMnO4

CO2

https://dl.doubtnut.com/l/_10aM75qI8uzy
https://dl.doubtnut.com/l/_4eGm7TkZm2K9
https://dl.doubtnut.com/l/_U6jbh3AXQxOQ


A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement, but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

7. Assertion: Benzene does not give electrophilic substition reactions. 

Reason: Benzene ring has extraordinarily stability because of

delocalisation of six -electrons of three double bonds.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

π

https://dl.doubtnut.com/l/_U6jbh3AXQxOQ
https://dl.doubtnut.com/l/_tgTnDF622b8I


B. Assertion and reagon both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement, but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: D

Watch Video Solution

8. Which of the following has the highest boiling point ? 

2-Methylpentane or 2,2-dimethylbutane

Watch Video Solution

9. Write the IUPAC name of 

View Text Solution

https://dl.doubtnut.com/l/_tgTnDF622b8I
https://dl.doubtnut.com/l/_pf00jZzwZ9LE
https://dl.doubtnut.com/l/_awnz6bN32bFO


10. Which of the two: cyclopentadienyl anion or cyclopentadienyl cation is

not aromatic?

Watch Video Solution

11. Give two chemical tests to distinguish pent-1-ene from pentane.

Watch Video Solution

12. Write structural formulas and IUPAC names of all possible isomers

having molecular formula  and one triple bond.

Watch Video Solution

C5H8

13. Why is Wurtz reaction not preferred for the preparation of alkanes

containing odd number of carbon atoms ? Illustrate with one example.

Watch Video Solution

https://dl.doubtnut.com/l/_3ftTXNfeiXSv
https://dl.doubtnut.com/l/_za7tnciGtQLr
https://dl.doubtnut.com/l/_mmAM3JKxYiMK
https://dl.doubtnut.com/l/_IanBHFBgul1g


14. Complete the following reactions : 

(i)  


(ii)  


(iii) 

Watch Video Solution

C6H6 + CH3Cl, anhyd. AlCl3 →

CH3C ≡ CCH3

( i )O3

−−−−−−−→
( ii )Zn ,H2O

CH3CH2C ≡ CH
acidicKmnO4

−−−−−−−→
Heat

15. What is meant by electrophilic substitution reaction? Explain the

mechanism of nitration of benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_IanBHFBgul1g
https://dl.doubtnut.com/l/_YpBP2x1pvE4w
https://dl.doubtnut.com/l/_SbyXUCPYlEVC

